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Chapter 1 Q&A:  The Language of Business    
 
Purpose; Public Corporations; Standard Setters and Auditors 
 
1.  What is the purpose of financial accounting? 

The purpose of financial accounting is to provide relevant financial information to interested parties, such as lenders, 
investors, suppliers, customers, employees, etc., to facilitate their various decisions (such as whether to lend to, invest 
in, sell to, buy from, or work for the firm). 

 
2.  What is the name of the commission in the U.S. that oversees the standard setting process? 

The commission is the Securities and Exchange Commission or SEC. 

 
3.  Describe briefly the two suppliers of outside, private financial capital, and what they want in return for that capital.  

Lenders want to be repaid the amount loaned (the principal), plus interest.  Investors want the value of the firm to increase, 
and they often want to receive dividends as well. 

 
4.  What is the difference between public and private financial capital? 

Public capital is supplied by the government; private capital is supplied by private individuals, firms, and other entities. 

 
5. How do lenders try to protect themselves in the event that the firms to which they have loaned capital are unable to pay 

interest and principal? 
Lenders will often demand collateral, and they often impose a covenant on the borrower that sets forth the requirements 
that the borrower must follow. 

 
6.  What is the definition of fraud? 

Fraud is the willful intent to deceive another party for personal gain. 

 
7.  Describe a major purpose of the Sarbanes Oxley Act (SOX) of 2002? 

SOX instituted new requirements for outside auditors to audit a firm’s internal control system over financial reporting.  
SOX also instituted the requirement that CEOs and CFOs certify their financial statements.  

 
8.  What are the three main profit-seeking entities in the private sector? 

They are:  sole proprietorship, partnership, and corporation. 

 
9. What is the essential difference between public and private corporations? 

Public corporations have publicly traded stock (or debt) and must register their securities with the SEC.  They also have 
a large number of filing requirements to follow with the SEC.  Private corporations do not have the same requirements.  

 
10.  What is the significance of the phrase “other people’s money” in the context of corporations? 

The managers of corporations are stewards of the financial capital entrusted to them (“other people’s money”).  They are 
agents of those who provide this capital. 

 
11.  What do the initials PCAOB stand for, and what does this organization do? 

PCAOB stands for Public Company Accounting Oversight Board.  It was created by the Sarbanes Oxley Act and oversees 
the auditors of firms.  In some sense, the PCAOB is the “auditor’s auditor.” 
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12. Name the so-called "Big 4" accounting firms. 
They are:  Deloitte, EY, KPMG, and PwC. 
 

 
13.  What do the initials IASB stand for, and what does this organization do? 

IASB stands for International Accounting Standards Board.  The IASB promulgates International Financial Reporting 
Standards, the main set of standards used by most countries.  

 
14.  What is an Exposure Draft and what is its purpose? 

An Exposure Draft is a proposed draft of a new accounting standard.  Its purpose is to solicit comments from the public 
before a new accounting standard is promulgated by the FASB.   

 
Basic Terminology and Methodology: Fundamental Equation; Journal Entries; Ledger; 
Balance Sheet; Income Statement; Retained Earnings; Cash Flow Statement; Closing 
the Books 
 
15.  What is the fundamental equation of accounting, and how does it reflect a stewardship model of an organization? 

The fundamental equation is:  Assets = Liabilities + Owners’ Equity.  Managers control the assets, but they do not own 
them.  They are stewards of the value that others have loaned to or invested in the firm. 

 
16.  Name two perceived deficiencies of the fundamental equation of accounting. 

Two often cited deficiencies are: 1. Not all debt is shown as a liability; 2. Human capital is usually recognized as an 
expense, rather than as an asset.  That is, people are not considered assets in the accounting model. 

 
17.  What do the initials IPO and SEO stand for? 

IPO stands for Initial Public Offering, and SEO stands for Seasoned Equity Offering.  The IPO is the first issue of stock to 
the public; SEOs are secondary offerings of shares to the public. 

 
18.  What is the “book of original entry”? 

This is another name for the journal. Transactions and events that require “statement disclosures” are first booked in the 
journal.  The data are then posted to the ledger, from which the financial statements are derived. 

 
19.  What is the purpose of the ledger? 

The ledger holds the balances of all accounts. 

 
20.  What is the relationship between the journal and the ledger? 

The data from the journal are subsequently posted to the ledger.  The journal represents “changes” in accounts.  The 
ledger shows all these changes (+ and -) as well as their sums, or balances.  

 
21.  What is the relationship between the ledger and the balance sheet? 

The account balances that appear in the balance sheet are drawn from the ledger. 

 
22.  What do the initials COGS stand for? 

COGS stands for Cost of Goods Sold.  COGS is an expense.  COGS represents a reduction of owners’ equity to coincide 
with the reduction in inventory from a sale of inventory.   

 
 
 



Fundamentals of Financial Accounting and Analysis –  Q&A                                                                                   Chapter 1 

©Stephen H. Bryan, Ph.D. 3 Q&A  

23.  What is the main purpose of an expense? 
Expenses are incurred to generate sales (revenues), either directly or perhaps indirectly. 

  
24. What is the definition of gross profit? 

Gross profit is Sales – COGS. 

 
25.  How does gross profit differ from the gross margin ratio? 

Gross profit (Sales - COGS) is an absolute measure, whereas the gross margin ratio (gross profit / sales) is a relative 
measure.  

 
26.  What type of firm would exhibit large gross profits but small gross margin ratios? 

So-called discount retailers will often have large gross profits due to the volume of sales, but their gross margin ratios will 
be small.   

 
27.  How could lowering selling prices to increase sales be unwise for a firm? 

Cutting selling prices will cut the gross margin ratio, and margins need to be large enough to cover all other expenses, 
besides just COGS.  Also, the status symbol of luxury goods (such as expensive jewelry, handbags, etc.) would likely be 
negatively affected if margins were reduced. 

 
28.  Why are expenses recorded as negative values in owners’ equity? 

Expenses are charged to the owners and therefore reduce their residual claims on the assets. 

 
29.  What is the name of the expense associated with the use of a building? 

The name of the expense is depreciation expense, which is often included with selling, general, and administrative 
expenses, although some firms do show it separately on the income statement.  

 
30.  What is the name of the expense associated with the use of borrowed capital? 

The name of the expense is interest expense, which is shown on the income statement, below operating income.  Interest 
expense is a financing expense, not an operating expense.  

 
31.  How is corporate income tax payable calculated? 

Tax payable = Tax rate * Taxable Income 
The tax rate here is the statutory tax rate, which varies across time and across different tax jurisdictions. 

 
32.  What is the name of the account in owners' equity that contains the cumulative amount of a firm's net income, less 

dividends?  
The name of the account is retained earnings, sometimes called “reinvested earnings,” or some similar title. 

 
33.  Fill in the below table with the names of the three main financial statements, along with the respective equations for 

each statement. 
Name of Financial Statement Equation 
Balance Sheet Assets = Liabilities + Owners’ Equity 
Income Statement Net Income = Revenues – Expenses  
Cash Flow Statement Change in Cash = Operating +/- Investing +/- Financing Cash Flows 
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34.  What is the main purpose of the closing entry? 
The closing entry resets the balances of temporary accounts to zero and transfers the data from these accounts to retained 
earnings. 

  
35. How often do firms close their books?   

If they are publicly traded, they are on a quarterly reporting cycle (in the U.S.), meaning they must close every three 
months. 

 
36.  What are temporary accounts? 

Temporary accounts are those that hold account balances temporarily.  All income statement accounts are temporary. 
Their balances are transferred to retained earnings at the end of every reporting period (such as a quarter or year).   

 
37. What are permanent accounts? 

Permanent accounts are those with cumulative balances over multiple periods.  Thus, permanent accounts are those 
found on the balance sheet. 

 
38.  Given the following temporary accounts, provide the closing entry in the space provided. 

 

 
39. Identify (by X or ) the financial statement(s) that would be dated in the following way: “For the Year Ending December 

31, Year 3.” 
Balance Sheet  

Income Statement  

Cash Flow Statement  
 
40.  Label the following cash flows as operating, investing, or financing: 

Cash Flow Description Cash Category 
Cash received from customers Operating 
Cash received from a bank for a loan Financing 
Cash paid to employees Operating 
Cash paid to buy a building Investing 
Cash paid to buy inventory Operating 
Cash received from investors in the firm's IPO Financing 

 
  

Temporary Accounts Amounts 

Revenues $500 

Cost of Goods Sold - 300 

Interest Expense - 60 

Wage Expense - 80 

Depreciation Expense - 40 

Tax Expense - 8 

Assets Liabilities Owners' Equity 
    Revenues -500 
    COGS +300 
    Interest Expense +60 
    Wage Expense +80 
    Depreciation Expense +40 
    Tax Expense +8 
    Retained Earnings +12 
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41.  Describe the effect on owners’ equity (increase, decrease, or no effect) from the following events: 
Event Effect 
Sale of stock to investors increase 
Borrowing cash from a bank no effect 
Recognition of tax expense decrease 
Sale of a service to customers increase 
Recognition of wage expense decrease 
Sale of products to customers increase 
Recognition of cost of goods sold decrease 
Payment of principal to a bank no effect 
Purchase of a building with cash no effect 
Recognition of depreciation on a building decrease 
Cash purchase of inventory no effect 
Recognition of rent expense decrease 

 
42.  Calculate and identify the missing number in the below equation for the cash account: 

Beginning 
Balance 

Operating 
Cash Flow 

Investing 
Cash Flow 

Financing 
Cash Flow 

Ending 
Balance 

200 - 20 - 60 + 100 220 
 
43.  Given a gross margin ratio of 80% and sales of $500, calculate cost of goods sold.  

Sales 500 
Cost of Goods Sold - 100 
Gross Profit 400 

  
44. Below are accounts in random order.  In the space provided, put the accounts in appropriate order, and create the 

balance sheet and income statement.  Include the dates (also below) for each statement. 
Accounts and Dates Amounts 
Revenues $600 
Note Payable 800 
Cash 200 
Depreciation Expense - 100 
Stock 200 
Inventory 120 
Retained Earnings  200 
Building 1,000 
Cost of Goods Sold - 280 
Wages Payable 10 
Wage Expense - 10 
Tax Expense - 50 
Tax Payable 50 
Interest Expense - 60 
Interest Payable 60 
For the Year Ending 12/31/Year 2  
As of 12/31/Year 2  
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Balance Sheet  Income Statement 
Date: As of 12/31/Year 2 Date:  For the Year Ending 12/31/Year 2 

Current Assets   Revenues 600 
Cash 200 Cost of Goods Sold -280 
Inventory 120 Wage Expense -10 
Total Current Assets 320 Depreciation Expense -100 
Noncurrent Assets   Operating Income 210 
Building 1,000 Interest Expense -60 
Total Assets 1,320 Pre-tax Income 150 
Current Liabilities   Tax Expense -50 
Interest Payable 60 Net Income 100 
Wages Payable 10   
Tax Payable 50   
Total Current Liabilities 120   
Noncurrent Liabilities     
Note Payable 800   
Total Liabilities 920   
Owners' Equity     
Stock 200   
Retained Earnings 200   
Total Liabilities & Owners' Equity 1,320   

 
Recording Events and Transactions 
 
45.  Journalize the following events and transactions.  Each event is independent of the others, except where noted. 
 
1.  A firm borrows $20 cash from a bank.   

Assets Liabilities Owners' Equity 
Cash + 20 Note Payable + 20   
      
 
2.   A firm pays wages of $10 cash. 

Assets Liabilities Owners' Equity 
Cash - 10   Wage Expense - 10 
      
 
3.  A firm buys equipment for $6 cash. 

Assets Liabilities Owners' Equity 
Cash - 6     
Equipment + 6     
 
4.  A firm makes a cash sale of $10.  COGS was $4. 

Assets Liabilities Owners' Equity 
Cash + 10   Revenues + 10 
Inventory - 4   COGS - 4 
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5.  A firm recognizes $2 of interest expense and pays cash. 
Assets Liabilities Owners' Equity 

Cash - 2   Interest Expense - 2 
      
 
6.  A firm recognizes $2 of interest expense and will pay the bank later. 

Assets Liabilities Owners' Equity 
  Interest Payable + 2 Interest Expense - 2 
      
 
7.  A firm issues stock for $60 cash. 

Assets Liabilities Owners' Equity 
Cash + 60   Stock + 60 
      
 
8.  A firm pays back the bank $20 of principal that it had borrowed previously. 

Assets Liabilities Owners' Equity 
Cash - 20 Note Payable - 20   
      
 
9.  A firm pays the bank $2 of interest that it had previously recognized but not yet paid. 

Assets Liabilities Owners' Equity 
Cash - 2 Interest Payable - 2   
      
 
10.  A firm depreciates equipment by $4. 

Assets Liabilities Owners' Equity 
Equipment - 4   Depreciation Expense - 4 
      
 
11.  A firm calculates taxes to be $8.  The firm recognizes tax expense and immediately pays cash. 

Assets Liabilities Owners' Equity 
Cash - 8   Tax Expense - 8 
      
 
12.  A firm makes a credit sale (rather than a cash sale) for $40.  The gross profit on the sale was $10.  Since the sale is a 

credit sale, the firm uses accounts receivable, rather than cash. 
Assets Liabilities Owners' Equity 

Accounts Receivable +40   Revenues + 40 
Inventory -30   COGS - 30 
 
13.  A firm records $3 of utilities expense and immediately pays the utility company. 

Assets Liabilities Owners' Equity 
Cash - 3   Utilities Expense - 3 
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14.  A firm buys inventory for $18 and pays cash to the vendor. 
Assets Liabilities Owners' Equity 

Cash - 18     
Inventory + 18     
 
15.  A firm buys inventory for $22, but will pay the vendor later.  (Use accounts payable, a liability.) 

Assets Liabilities Owners' Equity 
Inventory + 22 Accounts Payable + 22   
      
 
16.  A firm with revenues, COGS, wage expense, and tax expense of $100, 40, 12, and 10, respectively closes its books.  

Give the closing entry. 
Assets Liabilities Owners' Equity 

    Revenues - 100 
    COGS + 40 
    Wage Expense + 12 
    Tax Expense + 10 
    Retained Earnings + 38 
 
Recording; Posting; Deriving Financial Statements 
 
46.  A firm commences its business on January 1, Year 2.   

 
a.  Journalize each of the transactions enumerated below: 

 
1.  The firm borrows $50 cash.   

Assets Liabilities Owners' Equity 
Cash + 50 Note Payable + 50   
      
  
2.  The firm issues stock for $20 cash. 

Assets Liabilities Owners' Equity 
Cash + 20   Stock + 20 
      
 
3.  The firm buys a building for $30 cash. 

Assets Liabilities Owners' Equity 
Cash - 30     
Building + 30     

 
4. The firm buys inventory for $10 cash. 

Assets Liabilities Owners' Equity 
Cash - 10     
Inventory  + 10     
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5.  The firm sells $8 of inventory for $30 cash. 
Assets Liabilities Owners' Equity 

Cash + 30   Revenue + 30 
Inventory - 8   COGS - 8 

 
6.  The firm pays wages of $2 cash. 

Assets Liabilities Owners' Equity 
Cash - 2   Wage Expense - 2 
      
 
7.  The firm depreciates the building by $6.  

Assets Liabilities Owners' Equity 
Building - 6   Depreciation Expense -6 
      

 
8.  The firm books $4 of interest expense to be paid later. 

Assets Liabilities Owners' Equity 
  Interest Payable + 4 Interest Expense - 4 
      

 
9.  At the end of the year, the firm calculates and records $4 of tax expense to be paid later. 

Assets Liabilities Owners' Equity 
  Tax Payable + 4 Tax Expense - 4 
      
 
10.  The firm closes all temporary accounts. 

Assets Liabilities Owners’ Equity 
    Revenues - 30 
    COGS + 8 
    Wage Expense + 2 
    Depreciation Expense + 6 
    Interest Expense + 4 
    Tax Expense + 4 
    Retained Earnings + 6 

 
  



Fundamentals of Financial Accounting and Analysis –  Q&A                                                                                   Chapter 1 

©Stephen H. Bryan, Ph.D. 10 Q&A  

b.  Post the journal entries to the ledger.  

  Assets Liabilities & Owners’ Equity Temporary Accounts 

 C
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1  + 50    + 50             
2 + 20        + 20         
3 - 30  + 30               
4 - 10 + 10                
5 + 30           + 30      
5  - 8           - 8     
6 - 2              - 2    
7   - 6            - 6   
8      + 4          - 4  
9       + 4           - 4  

10          + 6  - 30 + 8 + 2 + 6 + 4 + 4 
 End 58 2 24 84 50 4 4 58 20  6 84 0 0 0 0 0 0 

 
c.  Create the income statement in the space provided below. 

Income Statement 
For the Year Ending 12/31/Year 2 

Revenues 30 

Cost of Goods Sold - 8 

Wage Expense - 2 

Depreciation Expense - 6 

Interest Expense - 4 

Income Before Tax 10 

Tax Expense - 4 

Net Income 6 
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d.  Label the cash flows in the cash account (copied below) as operating, investing, or financing.    
Cash Description   Label 

1/1/Year 2 0       
Ev

en
t N

um
be

rs
 

1 + 50 Borrowed cash Financing 
2 + 20 Sold stock   Financing 
3 - 30 Bought a building Investing 
4 - 10 Bought inventory Operating 
5 + 30 Sold inventory Operating 
5        

6 - 2 Paid employees Operating 
7         
8         
9         

 10     
12/31/Year 2 58       

 
e.  Add up the cash flows by category in the below space, and create the cash flow statement. 
 

Cash Flow Statement 
For the Year Ending 12/31/Year 2 

Operating Cash Flow 18 
Investing Cash Flow -30 
Financing Cash Flow 70 
Total Change in Cash 58 
Beginning Cash Balance 0 
Ending Cash Balance 58 
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Chapter 2 Q&A:  Additional Concepts and Methodology  
 

Accounting Cycle, Capitalize/Expense, Gains/Losses, Debits/Credits, T-Accounts, Trial 
Balances 

 
1.  State the four main steps of the accounting cycle. 

1.  Identify all accounting events that must be disclosed. 
2.  Value them if possible. 
3.  Record them in the accounting system via a journal entry or a note. 
4.  Disclose all accounting events in the financial statements and the notes. 

 
2.  Define statement disclosures and note disclosures. 
Statement disclosures are disclosures that are recognized in the financial statements, and therefore are journalized.  Note 
disclosures are disclosures that are reported via the notes.  Both are required disclosures under GAAP. 

 
3.  Describe the main purpose of temporary accounts. 
Temporary accounts hold (temporarily) the balances of all income accounts (sales, expense, gains, and losses).  These 
balances are transferred via the closing entry to retained earnings.  After the transfer, the balances in the temporary 
accounts are reset to zero so that the accounts can begin accumulating revenues and expenses for the next fiscal period. 

 
4. What is the income summary account, and what is its purpose? 
The income summary account is a temporary account that is sometimes used as part of the closing process.  When used, 
all income statement accounts (revenues, expenses, gains, and losses) are first closed to the income summary account.  
Then, the income summary account is closed to retained earnings.  Sometimes the income statement accounts are closed 
directly to retained earnings, eliminating the interim step of the income summary account.  

 
5.  Describe the main criteria for determining whether an expenditure should be capitalized or expensed. 
The main criteria are the definitions of both assets and expenses.  If the expenditure meets the definition of an asset, it is 
generally capitalized.  Informally, an asset is an item that represents a probable future benefit to the firm.  An expense is a 
current benefit to the firm in the sense that the expenditure, either directly or indirectly, generates revenues in the current 
period.  Expenses are matched with the revenues in the same period.   

 
6.  A firm buys office supplies for $100 cash. 
a.  Give the journal entry if the firm capitalizes the office supplies.  (Use “Office Supplies” as the name of the asset.) 

Assets Liabilities Owners' Equity 
Cash - 100     
Office Supplies + 100     
 
b.  Give the journal entry if the firm expenses the office supplies.  (Use “SG&A Expense.”) 

Assets Liabilities Owners' Equity 
Cash - 100   SG&A Expense - 100 
      
 
7.  State the main distinguishing difference between a revenue and a gain and between an expense and a loss. 
Revenues and expenses pertain to central, ongoing activities of the firm, whereas gains and losses pertain to peripheral or 
incidental activities of the firm. 
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8.   Explain why sales of inventory result in revenues whereas sales of property, plant, and equipment (PP&E) result in gains 
(or losses) rather than revenues. 

Inventory consists of items specifically held for resale in the ordinary course of business.  Therefore, sales of inventory are 
classified as revenues on the income statement, because revenues reflect the central, ongoing operations of the firm.  
Sales of PP&E are not part of the central, ongoing operations of the firm.  Therefore, they result in gains or losses.  

 
9.  Why is it important for gains and losses to be distinguished from revenues and expenses? 
Due to the fact that revenues are part of a firm’s central, ongoing operations, they are more sustainable than gains, which 
are peripheral to a firm’s operations.  A similar distinction holds for expenses versus losses.  Investors’ focus is on the 
future; therefore, the distinction helps investors build their financial models about future results.  

 
10.  A firm sells a car for $100 cash.  The cost of the car is $80.   
 
a.  Book the transaction assuming the firm is a car dealer, and the car is therefore classified as inventory. 

Assets Liabilities Owners' Equity 
Cash + 100   Revenue + 100 

Inventory - 80   COGS - 80 

 
b.   Assume the firm does not normally sell cars, but rather simply uses them to visit customers, and therefore classifies 

cars as part of PP&E.  Assume that $80 is the car's net book value (cost less any accumulated depreciation).  Book the 
transaction. 

Assets Liabilities Owners' Equity 
Cash + 100   Gain + 20 
PP&E, net - 80     

 
11.  Fill in the below chart with “debit” or “credit”: 

 Assets Liabilities Owners’ Equity 

Increase with Debit Credit Credit 

Decrease with Credit Debit Debit 
 
12.   Why are revenues and gains credits, and why are expenses and losses debits? 
Revenues and gains increase owners’ equity.  Owners’ equity is increased “on the right,” or with credits. 
Expenses and losses decrease owners’ equity.  Owners’ equity is decreased “on the left,” or with debits.  

   
13. What is the purpose of the “T” account? 
The T account is the conventional form of the ledger.  The T represents an equation, with a beginning balance (on either 
the left or right side of the T, depending on the account), increases and decreases (on either the left or the right side of the 
T, depending on the account), and finally an ending balance. 

  
14. With respect to T accounts, fill in the below chart with “debit” or “credit”. 

 Assets Liabilities Owners’ Equity 

Normal beginning balance Debit Credit Credit 
 
15. What is a trial balance, and what is its purpose? 
A trial balance is a listing of all account balances to determine whether debits equal credits.  It is a way of checking on the 
accuracy of posting the financial data from the journal to the ledger.  Firms can create a trial balance at any point in the 
accounting cycle.  Usually, however, trial balances are created:  1. before adjusting entries; 2. after adjusting entries; and 
3. after the closing entry. 
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16. What is the purpose of the accumulated depreciation account? 
The main purpose is to allow investors (and other interested parties) to estimate the average age of depreciable assets.  
Older assets (as measured by significant accumulated depreciation, relative to cost) will likely need more repairs and 
maintenance, as well as perhaps imminent replacement. 

 
17.  What is the equation for calculating interest expense? 
The equation is:  Interest = Principal * Rate * Time 

 
18.  What is the classification of the cash flow associated with the purchase of inventory?  What is the classification of the 

cash flow associated with the purchase of property, plant, and equipment? 
Inventory purchases are operating cash flows, since inventory is used in the central, ongoing operations of the firm.  PP&E 
purchases are investing cash flows, typically referred to as “capital expenditures,” or capex for short. 

 
More Practice Recording Simple Events and Transactions 

 
19.  Journalize the following events. 
 
 Note: 

• Beginning in this chapter, space is provided for both “intuitive” and “conventional” journal entries.  Use either type 
of journal entry (or both, if you wish additional practice).    

• Interspersed among some problems are both types of ledgers (equations and T-accounts).  Post the journal entries 
to their respective accounts in either type of ledger (or both, for additional practice). 

 
a.  A firm borrows $30 from a bank. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 30 Note Payable + 30   Cash  30  
       Note Payable 30 
 
b.  A firm issues (sells) stock to investors for $80. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 80   Stock + 80 Cash  80  
       Stock  80 
 
c.  A firm recognizes $10 in wage expense.  However, the firm does not pay employees at this time. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Wages Payable + 10 Wage Expense - 10 Wage Expense 10  
       Wages Payable 10 
 
d. The firm pays the $10 owed to employees in the previous event. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 10 Wages Payable  - 10   Wages Payable 10  
       Cash  10 
 
e.  A firm buys sundry office equipment for $180 cash.  The firm expenses the equipment (as SG&A Expense).  

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 180   SG&A Expense - 180 SG&A Expense 180  
       Cash  180 
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f.  A firm buys sundry office equipment for $480.  The firm capitalizes the equipment.  
Assets Liabilities Owners' Equity Debit Credit $ $ 

PP&E + 480     PP&E  480  
Cash - 480      Cash  480 
 
g.  After one year, the firm depreciates the above equipment by 50%.  Use the contra-account, accumulated depreciation 

(A/D). 
Assets Liabilities Owners' Equity Debit Credit $ $ 

A/D - 240   Depreciation Expense -240 Depreciation Expense 240  
       A/D  240 
 
20.  A firm has the following temporary accounts: 

Account Amount 
Revenues 80 

Cost of Goods Sold - 25 

SG&A Expense - 15 

Interest Expense - 10 

Tax Expense - 12 
 

Give the closing entry below: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

    Revenues - 80 Revenues  80  
    COGS + 25  COGS  25 
    SG&A Expense + 15  SG&A Expense 15 
    Interest Expense + 10  Interest Expense 10 
    Tax Expense + 12  Tax Expense 12 
    Retained Earnings + 18  Retained Earnings 18 
 
Recording; Posting; Trial Balancing; Deriving Financial Statements 

  
21. The below firm is just beginning its business on January 1, Year 2. 

 
 Journalize the below transactions in the spaces provided.  For each entry involving cash, label the cash flow as operating 

(Op), investing (Inv), or financing (Fin).   
 
1.  The firm issues (sells) its own stock for $100 cash.  This is its Initial Public Offering (IPO). 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash (Fin) + 100   Stock + 100 Cash  100  
       Stock  100 
 
2. The firm borrows $50 cash.   

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash (Fin) + 50 Note Payable + 50   Cash  50  
       Note Payable 50 
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3.  The firm buys a building for $100 cash.  Use either “building” or PP&E. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash (Inv) - 100     PP&E  100  
Building + 100      Cash  100 
 
4.  The firm buys inventory for $50.  It pays $40 cash.  The remainder is on account. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Inventory + 50 Accounts Payable +10   Inventory  50  
Cash (Op) - 40      Cash  40 
       Accounts Payable 10 
 
5.  The firm sells inventory costing $20 for $60.  The sale is a credit sale. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Accounts Receivable +60   Revenues + 60 Accounts Receivable 60  
       Revenues 60 
Inventory - 20   COGS - 20 COGS  20  
       Inventory  20 
 
6.  The firm collects $50 cash from the above accounts receivable. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash (Op) +50     Cash  50  
Accounts Receivable -50      Accounts Receivable 50 
 
7.  The firm records wage expense of $5 (cash).   

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash (Op) - 5   Wage Expense - 5 Wage Expense 5  
       Cash  5 
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Provide a trial balance. 
Trial Balance Before Adjusting Entries 

  Debit Credit 
Cash 55   
Accounts Receivable 10  
Inventory 30   
Building 100   
Accumulated Depreciation   0 
Accounts Payable  10 
Note Payable   50 
Interest Payable   0 
Taxes Payable   0 
Stock   100 
Retained Earnings   0 
Revenues   60 
Cost of Goods Sold 20   
Wage Expense 5   
Depreciation Expense 0   
Interest Expense 0   
Tax Expense 0   
Total 220 220 

 
8.  The firm depreciates the building by $5.  (Use the contra-account, accumulated depreciation, A/D.) 

Assets Liabilities Owners' Equity Debit Credit $ $ 
A/D - 5   Depreciation Expense - 5 Depreciation Expense 5  
       A/D  5 
 
9.  The firm records $5 of interest expense on the amount borrowed in event two, above.  The firm will pay the interest later.  

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Interest Payable + 5 Interest Expense - 5 Interest Expense 5  
       Interest Payable 5 
 
10.  The firm calculates tax expense as $10.  The firm will pay the tax later.  

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Tax Payable + 10 Tax Expense - 10 Tax Expense 10  
       Tax Payable 10 
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Provide an adjusted trial balance. 
Adjusted Trial Balance 

  Debit Credit 
Cash 55   
Accounts Receivable 10  
Inventory 30   
Building 100   
Accumulated Depreciation   5 
Accounts Payable  10 
Note Payable   50 
Interest Payable   5 
Taxes Payable   10 
Stock   100 
Retained Earnings   0 
Revenues   60 
Cost of Goods Sold 20   
Wage Expense 5   
Depreciation Expense 5   
Interest Expense 5   
Tax Expense 10   
Total 240 240 

 
11.  The firm closes its books.   

Assets Liabilities Owners' Equity Debit Credit $ $ 
    Revenue - 60 Revenue  60  
    COGS + 20  COGS  20 
    Wage Expense + 5  Wage Expense 5 
    Depreciation Expense + 5  Depreciation Expense 5 
    Interest Expense + 5  Interest Expense 5 
    Tax Expense + 10  Tax Expense  10 
    Retained Earnings + 15  Retained Earnings 15 
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Complete the posting to the below ledger and derive all ending balances.    
Assets Liabilities and Owners' Equity Temporary Accounts 
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1/1/Year 2 0 0 0 0 0   0 0 0 0 0 0   0 0 0 0 0 0 

Ev
en

t N
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1 +100                   +100                 
2 + 50                 + 50                   
3 - 100     +100                               
4 - 40   + 50       + 10                         
5   + 60                      + 60          
5   - 20            - 20     
6 + 50 - 50                                   
7 - 5                             - 5       
8         - 5                       - 5     
9               + 5                   - 5   

10                 + 10                   - 10 
11                       + 15   - 60 + 20 + 5 + 5 + 5 + 10 

12/31/Year 2 55 10 30 100 - 5 190 10 5 10 50 100 15 190 0 0 0 0 0 0 
 
For additional practice, in addition to the above equation form of the ledger, complete the posting to the below T-accounts 
and derive the ending balances. 
 
Assets  
 

Cash  Accounts Receivable  Inventory  Building  A/D 
0    0    0    0     0 

100 100  60 50  50 20  100     5 
50 40  

               
50 5                     
55    10    30    100     5 

 
Liabilities 
 

Account Payable  Note Payable  Interest Payable  Taxes Payable 
 0   0   0   0 
 10   50   5   10 
              
                 
 10   50   5   10 
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Owners’ Equity 
 

Stock  Retained Earnings 

 0   0 

 100   15 

       
         

 100   15 
 
Temporary Accounts 
 

Revenues  COGS  Wage Expense  
 0  0    0    

60 60  20 20  5 5  
            
               
 0  0    0    

 
Depreciation 

Expense  Interest Expense  Tax Expense 
0    0    0   
5 5  5 5  10 10 

           
              

0    0    0   
 
Provide a post-closing trial balance. 

Post-closing Trial Balance 
  Debit Credit 
Cash 55   
Accounts Receivable 10  
Inventory 30   
Building 100   
Accumulated Depreciation   5 
Account Payable  10 
Note Payable   50 
Interest Payable   5 
Taxes Payable   10 
Stock   100 
Retained Earnings   15 
Revenues   0 
Cost of Goods Sold 0   
Wage Expense 0   
Depreciation Expense 0   
Interest Expense 0   
Tax Expense 0   
Total 195 195 
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Fill in the values for the balance sheet and income statement below: 
Balance Sheet Income Statement 

As of 12/31/Year 2 For the Year Ending 12/31/Year 2 
Current Assets   Sales 60 
Cash 55 Cost of Goods Sold  -20 
Accounts Receivable 10 Wage Expense -5 
Inventory 30 Depreciation Expense -5 
Total Current Assets 95 Interest Expense -5 
Property, Plant, & Equipment 100 Income Before Tax  25 
Accumulated Depreciation -5 Tax Expense -10 
Total Assets 190 Net Income 15 
Current Liabilities       
Accounts Payable 10     
Interest Payable 5     
Taxes Payable 10     
Total Current Liabilities 25     
Notes Payable 50     
Total Liabilities 75     
Owners’ Equity       
Stock 100     
Retained Earnings 15     
Total Liabilities & Owners’ Equity 190     

 
Aggregate the cash flows by category of cash flows. 

Cash Flow Category 
For the Year Ending 12/31/Year 2 

Operating Cash Flow + 5 
Investing Cash Flow - 100 
Financing Cash Flow + 150 
Total Change in Cash + 55 
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Chapter 3 Q&A:  Applied Theoretical Issues  
 
Life Cycle, Pro Forma, Capital Structure (Debt v. Equity) 
 
1.   State whether the various categories of cash flows are expected to be positive or negative in the below phases of a 

firm’s life cycle.    
Intro Growth Maturity Decline 

Operating Cash Flow - turns + + - 

Investing Cash Flow - - - + 

Financing Cash Flow + + - ? (Help!) 
  

2. What are pro forma financial statements and what purpose do they serve? 
Pro forma means for the sake of form, or in this context, pro forma statements are forecasted models of the financial 
statements.  Modelers create a set of (estimated) future financial statements in order to predict a firm’s earnings, cash 
flows, and other variables of interest. 

 
3.  Describe why debt financing is usually cheaper than equity financing. 
In the U.S., interest is generally deductible.  Therefore, debt financing has a tax advantage.  Also, debt can be less risky 
than equity, which therefore makes the “required returns” to debtholders lower than those to equity holders.  Debt can be 
less risky because debtholders typically hold collateral and have protective covenants, whereas stockholders do not.  

 
4.  True or False:  Stockholders typically want the firm to take risks whereas debtholders do not. 
True.  This is because stockholders want the value of the firm to increase, and this would require managers to take some 
risks (investing in relatively risky projects).  Lenders generally just want to be paid back the principal and the interest. 

 
5.  Define variable expenses and give an example of one. 
These are operating expenses that vary with sales, such as COGS and SG&A expense. 

 
6.  Define fixed expenses and give an example of one. 
These are expenses that do not vary with sales.  For instance, interest expense does not vary with sales, but rather with 
the amount of debt, the interest rate, and time (Interest = Principal * Rate * Time).   

 
7.  In the context of leverage, explain how a 10% increase in revenues can result in a more than 10% increase in net income. 
Since interest charges on debt are fixed, sales increases do not correspond to increases in interest expense.  Therefore, 
a 10% increase in revenues can be magnified (levered) due to the fixed nature of interest. 

 
8.  Explain why firms do not use debt exclusively for their financial capital needs, even though it is usually cheaper than 

equity. 
When firms suffer from bad performance, they are still required to pay debtholders their interest, even though it may be 
difficult to do so.  These firms may need the cash for other purposes but cannot spend the cash as they wish due to the 
demands of the debt agreement.  This reduces financial flexibility.  Also, the more a firm borrows, the more the banks will 
charge for interest, making debt financing increasingly more expensive.  Thus, firms typically balance debt financing with 
equity financing in an effort to reduce their overall cost of capital. 
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Institutional Structures: SEC, Regulatory Oversight, Incentive Contracting 
 
9.  What is a prospectus? 
A prospectus is a document that describes a stock issue for potential investors.  Firms who wish to sell stock to the public 
must describe the firm’s business, the officers of the firm, and other information relevant for investors to make a decision 
about whether to invest in the firm.  

 
10.  Describe three of the major filings that public firms regularly make with the SEC. 
The 10-K is the annual filing that provides the financial statements and notes to the statements, as well as other descriptive 
disclosures, such as the business, the industry, litigation, known trends, contractual arrangements, etc.  The 10-Q is the 
quarterly equivalent of the 10-K, although the 10-Q does not contain as much detailed information.  The 8-K is the current 
report that firms must file relatively quickly after a major event has occurred, such as resignation of a corporate officer. 

 
11.  What is XBRL? 
It is an acronym that stands for eXtensible Business Reporting Language.  XBRL is an electronic filing method that attempts 
to speed the filing process and to standardize the accounts across firms in the financial reports. 

 
12.  What is the purpose of regulatory oversight? 
The purpose of regulatory oversight is to provide an additional monitoring role.  Public sector regulators help reduce the 
agency problems in the private sector by monitoring, and if necessary, penalizing firms who “break the rules” to the 
detriment of lenders, investors, and society at large.  The private sector monitoring systems (such as auditors) sometimes 
fail for a variety of reasons.  

 
13.  Describe generally the relationship between and among stockholders, debtholders, the board of directors, managers, 

and other constituencies.  
Stockholders have ownership claims on the assets of the firm.  Stockholders’ ownership claims, however, are secondary 
to the claims of lenders, if the firm were to go bankrupt.  That is, debtholders would be paid first.  Managers control the 
assets of the firm on behalf of the owners.  Managers must also, however, be fiscally responsible in relation to the lenders.  
The board of directors oversees the managers, and the board is answerable to the stockholders.  Other constituencies, 
such as environmental groups, also try to have influence over the decisions that the firm makes.   

 
14.  Describe how the agency problem is mitigated. 
The agency problem is generally mitigated by monitoring the effort of the agents (managers) and by providing incentives 
for the agents to work on behalf of the principals (owners).  

 
15.  What is “adverse selection?” 
Adverse selection refers to the agency problem of “unknown type” of agent.  That is, firms do not know an agent’s true 
ability to perform the duties for which he or she was hired.  

 
16. What is “moral hazard”? 
Moral hazard generally refers to the other major agency problem, namely the problem of “unknown effort” put forth by the 
agent, and whether this effort will be congruent with the goals of the principal.  

 
17.  What is the agency cost of debt? 
If the agency problem between managers and investors is resolved in favor of investors, lenders may feel “left out.”  Lenders 
may therefore seek greater protection, and may do so in the form of higher interest rates or greater collateral.    These 
greater protections represent the agency cost of debt. 

 
18. Name two forms of equity compensation and how they align the interests of the managers with the interests of the 

stockholders (owners).   
Two forms of equity compensation are stock option compensation and restricted stock compensation.  Both align the 
interests of managers with those of the owners by making the managers themselves owners (or potential owners). 
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19.  Describe a negative unintended consequence of stock option compensation.  
Stock options increase in value when the stock price of the firm increases.  Therefore, one negative consequence would 
be that managers may engage in practices to “fool” the stock market that the firm is doing well (to increase the stock price) 
when in fact the firm is performing poorly.  Willful intent to deceive is fraud. 

 
20.  Define the following terms that are used in the context of stock option compensation: 
Term Definition 

Strike price The price an option holder must pay to buy a share of stock upon exercising a stock option. 

At-the-money The situation that exists when an option’s strike price equals the value of the stock. 

In-the-money The situation that exists when an option’s strike price is less than the value of the stock. 

Out-of-the-money The situation that exists when an option’s strike price is greater than the value of the stock. 

Underwater Another term for out-of- the-money. 

Vesting period The period during which the holder of a stock option may not exercise the option. 

Service period Synonymous with vesting period. 
 
Accounting Principles: Revenue; Expense; Cost; Full Disclosure 
 
21.  State the Revenue Recognition Principle. 
Revenue is booked upon identification of a contract and related performance obligation(s), the determination of the price(s) 
for the performance obligation(s), and finally the satisfaction (completion) of the performance obligation(s).  

 
22.  State the Expense Recognition (or Matching) Principle. 
Expenses are booked in the same period as the related revenues. 

 
23.  A firm prepays two years of insurance premiums on 7/1/Year 2.  The amount paid is $24.  The firm's fiscal yearend 

(FYE) is 12/31.  Give the required entries on each of the below dates.  Use SG&A Expense as the name of the expense. 

7/1/Year 2 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash - 24     Prepaid Expense 24  
Prepaid Expense + 24      Cash  24 
 
12/31/Year 2 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Prepaid Expense - 6   SG&A Expense - 6 SG&A Expense 6  
       Prepaid Expense 6 
 
12/31/Year 3 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Prepaid Expense - 12   SG&A Expense - 12 SG&A Expense 12  
       Prepaid Expense 12 
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6/30/Year 4 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Prepaid Expense - 6   SG&A Expense - 6 SG&A Expense 6  
       Prepaid Expense 6 

 
24.  On January 1, Year 1, a retailer sells a gift card for $100.  On March 15, Year 1, the gift card is used by a customer to 

buy merchandise for $100.  The cost of the merchandise sold was $60.  Give the entries for the retailer on the below 
dates: 

1/1/Year 1 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash + 100 Deferred Revenue +100   Cash  100  
       Deferred Revenue 100 
 
3/15/Year 1 (for the recognition of revenue): 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Deferred Revenue -100 Revenue + 100 Deferred Revenue 100  
       Revenue  100 
 
3/15/Year 1 (for the recognition of cost of goods sold): 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Inventory - 60   COGS - 60 COGS  60  
       Inventory  60 
 
25.  Give the journal entry for each event below: 
 
a.  A firm defers revenue of $40. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 40 Deferred Revenue +40   Cash  40  
       Deferred Revenue 40 
 
b.  The firm earns $20 of the revenue deferred in a.  That is, the firm satisfies the performance obligation. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Deferred Revenue - 20 Revenue + 20 Deferred Revenue 20  
       Revenue  20 
 
c.  The firm accrues various expenses of $15.  (Simply use “Payable” and “Expense.”) 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Payable + 15 Expense - 15 Expense  15  
       Payable  15 
 
d.  The firm pays $6 of the amount accrued in c. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 6 Payable - 6   Payable  6  
       Cash  6 
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e.  The firm prepays $7 of expenses.   
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash - 7     Prepaid Expense 7  
Prepaid Expense + 7      Cash  7 
 
f.  The firm expenses $6 of the amount in e.  (Simply use “Expense.”) 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Prepaid Expense - 6   Expense - 6 Expense  6  
       Prepaid Expense 6 
 
g.  The firm accrues $90 of revenue.  (Ignore any cost of goods sold, COGS). 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Accounts Receivable +90   Revenue + 90 Accounts Receivable 90  
       Revenue  90 
 
h.  The firm collects $70 of the amount accrued in g. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash +70     Cash  70  
Accounts Receivable - 70      Accounts Receivable 70 
 
26. Describe the Cost Principle. 
The Cost Principle requires firms to recognize assets in the balance sheet initially at their respective costs, which includes 
the cash price (or cash equivalent), as well as any other costs to acquire, transport, or make the assets ready for use.   

 
27.  A firm buys inventory for $80 cash.  In addition, the firm has to pay shipping of $5, as well as insurance while the 

inventory is in transit of $8.  The shipping and insurance charges are also paid in cash.  Applying the Cost Principle, 
give the journal entry to record the purchase of the inventory. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 93     Inventory  93  
Inventory + 93      Cash  93 
 
28.  What is the Full Disclosure Principle? 
The Full Disclosure Principle broadly requires firms to disclose information that would be relevant for an interested party 
who has a reasonable understanding of business and who is willing to study the information with reasonable diligence.  
This principle also covers how certain items are disclosed.  For instance, the information in the three main financial 
statements must be classified in a certain way to enhance the informativeness of the disclosures.  

 
29.  How does the Full Disclosure Principle affect the three main financial statements? 
The balance sheet must show current and noncurrent categories of assets and liabilities.  The income statement must 
distinguish between items that are a part of continuing operations from those that are not.  The cash flow statement must 
categorize cash flows as operating, investing, and financing. 

 
30. What is the purpose of classifying assets and liabilities into current and noncurrent categories? 
Investors (and other interested parties) want to estimate a firm’s future.  A major item that investors want to predict is the 
timing (and amount) of cash flows.  The current/noncurrent categories contain relevant information for this purpose.  For 
instance, current receivables should result in cash inflows within twelve months.  As another example, noncurrent debt will 
not require payment of principal until after twelve months. 
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31.  What are discontinued operations? 
Discontinued operations (“disc ops”) are components of the firm’s business that the firm plans to sell.  The items related to 
disc ops (assets, liabilities, revenues, expenses, cash flows, etc.) are segregated from the items related to continuing 
operations so that investors will know that the disc op’s financials will not continue to be a part of the firm’s financial 
statements, once the sale is complete. 

 
32.  Give the names of at least two accounts that would be included in each major section of the balance sheet, shown 

below: 
Current Assets Cash, Accounts Receivable, Inventory, Short term Investments 
Noncurrent Assets PP&E, Long term Investments 

Current Liabilities Accounts Payable, Accrued Liabilities (such as Wages Payable), Short term Debt, Deferred 
Revenue (expected to be earned within the next year) 

Noncurrent Liabilities Long term Debt, Long term Deferred Revenue, Contingent Liabilities (probable after one 
year) 

Owners' Equity Stock, Retained Earnings 
  

33. Give the names of at least two accounts that would be included in each of the below sections of the income statement: 

Operating Section Revenues, COGS, SG&A Expense, Depreciation Expense, R&D Expense 

Non-operating Section Interest Expense, Investment Income 

 
34.  Indicate (by X or ) which accounts go on the income statement and which go on the balance sheet. 

Account Name Income 
Statement 

Balance 
Sheet 

1.   Accounts Receivable     
2.   Accumulated Depreciation    
3.   Cash        
4.   Cost of Goods Sold     
5.   Depreciation Expense    
6.   Gain        
7.   Tax Payable    
8.   Interest Expense      
9.   Interest Payable      
10. Inventory      
11. Investments      
12. Note Payable      
13. Prepaid Expense      
14. Property and Equipment    
15. Tax Expense      
16. R&D Expense      
17. Retained Earnings     
18. Revenue      
19. Salaries Expense      
20. Salaries Payable      
21. SG&A Expense      
22. Short Term Debt      
23. Stock        
24. Unearned Revenue     
25. Loss        
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35. Fill in the missing numbers (in the grey cells) in the below set of financial statements. 
Income Statement Cash Flow Statement 

For the Year Ending 12/31/Year 2 For the Year Ending 12/31/Year 2 
Sales 20 Operating Cash Flow 9 
Cost of Goods Sold -5 Investing Cash Flow -10 
SG&A Expense -4 Financing Cash Flow -1 
Depreciation Expense -4 Total Change in Cash -2 
Operating Income 7   
Interest Expense -1   
Pretax Income 6   
Tax Expense -2   
Net Income 4   
Dividends 3   

 
Balance Sheet 

As of 12/31 
 Year 1 Year 2 
Current Assets   
Cash 10 8 
Accounts Receivable 20 22 
Inventory 15 15 
Total Current Assets 45 45 
Investment 5 5 
PP&E 50 60 
Accumulated Depreciation -10 -14 
Total Assets 90 96 
Current Liabilities   
Accounts Payable 15 15 
Interest Payable 0 1 
Tax Payable 0 2 
Total Current Liabilities 15 18 
Note Payable 20 22 
Stock 40 40 
Retained Earnings 15 16 
Total Liabilities & Owners' Equity 90 96 

 
Qualitative Characteristics; Conservatism 
 
36.  What are the two main characteristics that financial information should exhibit? 
Financial information should exhibit relevance and representational faithfulness.  Relevance means the information makes 
a difference in users’ decisions, and representational faithfulness refers to the attribute of unbiasedness, or neutrality. 

  
37. How does conservatism affect accounting for R&D expense and for contingencies? 
Firms recognize probable and estimable contingent losses in advance of realization, but not contingent gains, and firms 
expense intellectual capital (such as expenditures on R&D) due to the high level of uncertainty associated with research 
activity. 
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38. Give an example of a contingent loss. 
A lawsuit in which the firm is a defendant would represent a contingent loss.  The loss would be measured and recorded 
in the income statement if the amount of the damages could be estimated and if the loss were considered probable.  

 
39.  Give an example of how the primary attributes of accounting information (relevance and representational faithfulness) 

are in tension. 
Fair values of real estate, for example, may be relevant for investors and lenders, but they may not be very 
representationally faithful unless determined in an actual transaction.  Real estate appraisals vary by appraiser, since the 
valuations typically require subjective measures.   

  
40. Describe the auditor's role with respect to representational faithfulness. 
Auditors test the accuracy of financial information that is supplied by management.  However, the tests are typically done 
on a sample basis, which is, nonetheless, sufficient for them to render an opinion about whether they believe the financial 
statements “present fairly,” in accordance with the applicable GAAP, the financial position and results of the firm.  

 
41.  A firm is sued.  Give the journal entry, assuming the estimated damages of $100 are probable. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Contingent Liability +100 Contingent Loss - 100 Contingent Loss 100  
       Contingent Liability 100 
 
Alternative Accounting Systems 

 
42. Give a reason why the FASB requires firms to use the accrual system, as well as the fair value system. 
The accrual system is required, in part, because it contains information about future cash flows (for example, in receivables 
and payables).  Investors and lenders want to predict future cash flows for their respective decisions about a firm (whether 
to lend to or invest in the firm).  The fair value system augments the accrual system by providing information about market 
values of certain assets and liabilities.  Market values are deemed to be more relevant than historical costs.   

 
43.  Name one disadvantage of the accrual system. 

The accrual system requires judgment about certain events, such as when to recognize revenue and expenses.  Such 
judgment could be used opportunistically or even fraudulently to the advantage of certain individuals at the firm. 

 
44.  Why is it important for lenders and investors to be able to predict amounts and timing of future cash flows? 
Lenders want to ensure that firms will have the cash to repay their loans when they come due, and investors want to 
determine whether the firm will have the cash it needs to take advantage of investment opportunities that will likely increase 
the value of the firm, and therefore increase the value of investors’ investments in the firm. 

 
45.    Briefly describe the three main accounting systems and the purposes that each serves. 
The cash system records only cash transactions and therefore focuses on past cash events.  It is important to know the 
sources of cash and what management did with it.  The accrual system, which is based on the Revenue and Expense 
Recognition (Matching) Principles, records cash and non-cash transactions.  It helps users of financial statements assess 
future cash flows.  The fair value system, which uses market values rather than cost for certain assets and liabilities, strives 
to increase the relevance of the balance sheet through the use of (current) fair values.   

 
46.  How does the fair value system contradict conservatism? 
Under the fair value system, unrealized gains are booked prior to their realization. 
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47.  A firm buys a short term investment for $40.  The investment is a share of stock.  The stock price increases to $44.  
Assuming the firm recognizes the change in value in current income, give the appropriate journal entry. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Investment + 4   Gain + 4 Investment  4  
       Gain  4 
 
More Practice Recording Events and Transactions 
 
48.  Journalize the following events.  Each entry is independent, except where stated.   
 
a.  A firm accrues a $100 sale.  The cost of goods sold is $45. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Accounts Receivable +100   Revenues + 100 Accounts Receivable 100  
       Revenues  100 
Inventory - 45   COGS - 45 COGS  45  
       Inventory  45 
 
b.  A firm buys inventory on account for $60. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Inventory + 60 Accounts Payable + 60   Inventory  60  
       Accounts Payable 60 
 
c.  A firm defers revenue of $88 for services to be rendered in the future. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 88 Deferred Revenue + 88   Cash  88  
       Deferred Revenue 88 
 
d.  A firm collects $18 from a previously accrued sale. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash +18     Cash  18  
Accounts Receivable -18      Accounts Receivable 18 
 
e.  A firm recognizes revenue of $20 from previously deferred (unearned) revenue. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Deferred Revenue - 20 Revenue + 20 Deferred Revenue 20  
       Revenue  20 
 
f.  A firm capitalizes an expenditure of $32.  (Simply use “Asset.”) 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Asset + 32     Asset  32  
Cash - 32      Cash  32 
 
g.  A firm prepays insurance of $48.  (Use “Prepaid Expense.”) 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 48     Prepaid Expense 48  
Prepaid Expense + 48      Cash  48 
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h.  A firm expenses prepaid expenses by $102.  (Use SG&A Expense.) 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Prepaid Expense -102   SG&A Expense - 102 SG&A Expense 102  
       Prepaid Expense 102 
 
i.  A firm buys equipment for $92 cash.  (Use “PP&E.”) 

Assets Liabilities Owners' Equity Debit Credit $ $ 
PP&E + 92     PP&E  92  
Cash - 92      Cash  92 
 
j.   Refer to the above equipment purchase.  After one year of an estimated two year life, the equipment is depreciated by 

one-half.   (Use A/D for accumulated depreciation.) 
Assets Liabilities Owners' Equity Debit Credit $ $ 

A/D - 46   Depreciation Expense -46 Depreciation Expense 46  
       A/D  46 
 
k.  A firm accrues wage expense of $78.  (Use Wage Payable and SG&A Expense.) 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Wages Payable + 78 SG&A Expense - 78 SG&A Expense 78  
       Wages Payable 78 
 
l.  A firm buys an investment of stock of another firm for $26. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 26     Investment  26  
Investment + 26      Cash  26 
 
m.   Refer to the above problem.  The value of the investment falls to $13, and the firm must recognize the unrealized loss 

in the income statement. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Investment - 13   Loss - 13 Loss  13  
       Investment  13 
 
n.  A firm issues its own stock for $40. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 40   Stock + 40 Cash  40  
       Stock  40 
 
o.  Refer to the above problem.  The value of the firm's own stock rises to $50. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
No entry      No entry    
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Chapter 4 Q&A:  Introduction to Financial Statement Analysis  
 
5 Steps; Ratio Warnings; Common Size; YOY 
 
1.  Name the five general steps for analyzing a firm. 
1.  Determine the purpose of the analysis. 
2.  Gather relevant data. 
3.  Perform quantitative and qualitative analysis of the data. 
4.  Predict the relevant future with respect to the purpose of the analysis. 
5.  “Stress test” the prediction by changing one or more assumptions. 

 
2.  Name at least two warnings or cautions about calculating and interpreting ratios. 
Ratios need to be benchmarked against ratios from previous periods and against those from a competitor firm.  Ratios 
need to be measured consistently, since their measurement is not typically standardized. 

 
3. What are the denominators for “common sizing” the balance sheet and the income statement? 
The denominator for common sizing the balance sheet is total assets.  The denominator for common sizing the income 
statement is revenues. 

 
4.  What is the purpose of common size financial statements? 
Common size statements allow comparisons among and between firms of different sizes by turning absolute values into 
relative values.  

 
5.  Calculate the year-over-year (YOY) percentage changes and the common size ratios in the spaces provided. 
 Income Statement Year-over-year (%) Common Size 

 Year 3 Year 2 Year 1 Year 3 Year 2 Year 3 Year 2 Year 1 

Sales 62 56 52 10.7% 7.7% 100% 100% 100% 

COGS - 24 - 23 - 22 4.3% 4.5% 38.7% 41.1% 42.3% 

Gross Profit 38 33 30 15.2% 10.0% 61.3% 58.9% 57.7% 

SG&A - 14 - 11 - 10 27.3% 10.0% 22.6% 19.6% 19.2% 

EBIT 24 22 20 9.1% 10.0% 38.7% 39.3% 38.5% 
 
6.  Refer to the above problem.  Tell a brief “story” by providing a description and interpretation of the ratios.  
For the most recent period, YOY sales grew 10.7% and COGS grew 4.3%.  Consequently, gross profit expanded.  YOY 
gross profit rose 15.2% for the most recent period, and on a common size basis rose from 58.9% to 61.3%.  However, the 
YOY growth in SG&A (27.3%, for the most recent year) offset much of the gains.  Consequently, EBIT margin has been 
relatively flat over the time period (38.5% in Year 1, up to 39.3%, but back down to 38.7% in Year 3). 

 
7.  Calculate year over year ratios (in %) for the following: 

Year Year 3 Year 2 Year 1 

Capital Expenditures - 1,349 - 2,644 - 3,112 

Year over Year -48.98% -15.04%  
 
8.  Did the above year-over-year changes exhibit increases or decreases in capital expenditures? 
Capital expenditures decreased by almost 50% from Year 2 to Year 3, and decreased just over 15% from Year 1 to Year 
2. 
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More Terminology and Concepts; Practice Constructing and Interpreting More Ratios 
 
9.  What are the main purposes for the subtotal of EBIT on the income statement? 
EBIT shows the results of central, ongoing operations of the firm, without considering how the firm has financed those 
operations (that is, with debt or with equity).  However, EBIT sometimes contains nonrecurring losses, which typically, 
however, are “normalized-out” for analytical purposes. 

 
10.  What is another name for EBIT? 
Operating Income is a more common name than Earnings before Interest and Taxes (EBIT). 

 
11.  What are the three main margin ratios calculated from data on the income statement? 
The three main margin ratios are:  gross margin ratio, EBIT margin ratio, and profit margin ratio. 

  
12.  What are the names of the two major tax rates? 
The two main tax rates used in the context of financial accounting are the statutory tax rate and the effective tax rate.  

 
13.  How do firms sometimes attempt to lower their effective tax rates? 
They can have nontaxable income, such as interest on municipal debt. 

 
14.  Give the formula of the ratio that would be appropriate to answer each of the following questions:   

Question Ratio Formula 

a.  How long does it take a firm to pay its bills (on average)? 365 / (COGS / Accounts Payable) 

b.  How long does it take a firm to sell its inventory (on average)? 365 / (COGS / Inventory) 
c.  How long does it take a firm to get paid by its customers (on 

average)? 365 / (Revenues / Accounts Receivable) 

d.  What is the firm's capital structure? Debt / (Debt + Owners’ Equity) 

e.  How well did the firm's assets perform in generating net income? Net Income / Total Assets 
f.   How much of the firm's net income was paid as dividends to the 

owners? Dividends paid / Net Income 

g.  What does the stock market estimate the value of the firm to be? Shares Outstanding * Price per share 

h.  What is the approximate cost of the firm's debt on a pretax basis? Interest Expense / Average Total Debt 

i.  What is the approximate cost of the firm's equity? Risk Free Rate + Beta * Risk Premium 

j.  What is the firm's effective tax rate? Tax Expense / Pre-tax Income 
 

15. Critique the use of ROE as a measure of management effectiveness. 
ROE is problematic in the following ways:  the earnings of the firm are not literally paid to the owners.  That is, “net income” 
is not an item that can be directly paid to the owners.  Also, owners’ equity (the denominator) can be close to zero, or in 
some cases even negative, rendering the ratio meaningless, particularly when the numerator is also negative.  

 
16.  What is the difference between the quick ratio and the current ratio? 
The quick ratio contains only those assets that are cash or readily convertible to cash, whereas the current ratio includes 
all current assets. 
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17. Interpret the meaning of a positive Cash Conversion Cycle of 75 days. 
This would mean the firm needs to be able to cover 75 days of cash needs with a sufficiently large cash balance, or have 
access to bank loans or other types of financing for that period of time. 

 
18.  Why is the market-to-book ratio often above 1? 
The numerator (market capitalization) is forward looking, whereas the denominator (owners’ equity) is largely historical or 
backwards looking.  Market participants typically see growth in the firm’s future, which translates into growth of firm value, 
therefore rendering the numerator greater than the denominator.  The ratio is significantly greater than one for those firms 
and industries that are deemed to have tremendous growth options. 

 
19.  Describe briefly (and generally) the meaning of Free Cash Flow to Equity (FCFE). 
FCFE is the cash flow earned by a firm in its operations over the course of a period (one year, for instance), less cash that 
must be paid for capital expenditures.  Then, cash changes in debt are added (increase in debt) or subtracted (decrease 
in debt). FCFE represents the amount of cash that managers are “free” (i.e., have discretion over) to return to the owners 
of the firm.  

 
20.  How is Free Cash Flow to Equity actually returned to stockholders? 
FCFE is typically returned to equity holders (i.e., the owners) via dividends and share repurchases.  

 
21.  Why do high growth firms not usually return free cash flow to stockholders? 
High growth firms need the cash in order to take advantage of the growth opportunities.   

 
22.  What is the difference between the Dividend Payout Ratio and the Dividend Yield? 
The ratios differ in their denominators.  The payout ratio uses net income in the denominator, whereas the yield uses stock 
price.   

 
23.  What is a warning about interpreting Total Returns to Shareholders (TRS)? 
TRS is based upon historical returns to shareholders, and historical returns are not considered to be good predictors of 
future returns. 

 
24.  How do potential investors compensate for perceived additional risk associated with an investment? 
They expect a greater return in order to be compensated for the perceived additional risk.  One way to increase the chance 
of having a greater return is to buy the investment at a “cheap” price. 

 
25.  Why is it deemed more difficult to measure the cost of equity compared to the cost of debt? 
Debt usually has a stated interest rate and stated repayment terms.  Debt is backed up with a contract that specifies these 
and other terms.  There is no corresponding contract for equity.  

  
26. Describe beta in the context of measuring a firm’s cost of equity. 
Beta is the slope of the line through a scatter plot of stock returns to the firm (y axis) and stock returns to the market (x 
axis).  Beta captures how sensitive an individual firm’s stock is in relation to the broader market.  It is a measure of perceived 
risk of the firm.  Higher betas correspond to higher perceived risk, which in turn correspond to a higher estimated cost of 
equity. 

 
  



Fundamentals of Financial Accounting and Analysis – Q&A                                                                               Chapter 4 
 

©Stephen H. Bryan, Ph.D. 35 Q&A  

27. Interpret a beta of 2.  Interpret a beta of 0.5. 
A beta of 2 would indicate that the firm’s stock price, on average, rises or falls twice as much as the broader market rises 
or falls.  If the market rises 1% over a period (say, one month), the firm’s stock price would be expected to rise 2%.  A beta 
of 0.5 would mean the firm’s stock price moves, on average, only half as far as the broader market.  Low beta stocks 
typically are firms that sell items that meet basic needs (electricity, pharmaceuticals, food).  Such items (necessities) are 
less responsive to movements in the market. 

  
28. What is WACC for a firm with $10 of debt and $50 of equity, where the after tax cost of debt is 4% and the cost of equity 

is 10%? 
WACC = ($10 * 4% + $50 * 10%) / ($10 + 50) = 9%  

 
29.  Match each ratio below with its formula, by placing the number (#) of the ratio next to the formula.  

# Formula # Name of Ratio 
 10 365 / (Sales / Accounts Receivable) 1 Effective Tax Rate 

 3 1 - COGS / Sales 2 Interest Coverage Ratio 

12 Current Assets / Current Liabilities 3 Gross Margin Ratio 

4 Net Income / Assets 4 Return on Assets 

19 Debt / (Debt + Owners' Equity) 5 SG&A Ratio 

5 SG&A Expense / Sales 6 Market to Book Ratio 

24 365 / (COGS / Inventory) 7 Profit Margin Ratio 

1 Tax Expense / Pretax Income 8 Asset Turnover 

18 EBIT / Sales 9 Dividend Payout Ratio 

22 Shares Outstanding * Price per Share 10 Days Sales Outstanding 

23 (Debt * After-tax Cost of Debt + Market cap * Cost of Equity) / (Debt + Market Cap) 11 Total Return to Shareholders 

6 Market Capitalization / Owners' Equity 12 Current Ratio 

26 Risk Free Rate + Beta * Risk Premium 13 Cash Conversion Cycle 

2 EBIT / Interest Expense 14 Quick Ratio 

16 365 / (COGS / Accounts Payable) 15 Free Cash Flow to Equity 

28 Gross Interest Expense / Interest Bearing Debt * (1 - Effective Tax Rate) 16 Days Payable Outstanding 

9 Dividends / Net Income 17 Dividend Yield 

15 Operating Cash Flow – Capital Expenditures +/- Change in Debt 18 Operating Margin Ratio (EBIT Margin) 

29 Net Income / Owners' Equity 19 Debt to Capital Ratio 

25 1 - Gross Margin Ratio 20 Return on Invested Capital 

13 Days Sales in Inventory + Days Sales Outstanding - Days Payable Outstanding 21 % of Free Cash Flow to Equity Returned 

27 EBIT * (1 - Effective Tax Rate) 22 Market Capitalization 

8 Sales / Assets 23 Weighted Average Cost of Capital 

14 (Cash + Accounts Receivable + Short Term Investments) / Current Liabilities 24 Days Sales in Inventory 

20 NOPAT / (Debt + Market Cap) 25 Cost Ratio 

7 Net Income / Sales 26 Cost of Equity Capital (using CAPM) 

21 (Dividends + Share Repurchases) / FCFE 27 Net Operating Profit after Tax 

17 Dividends per Share / Price per Share 28 Cost of Debt Capital (Effective Interest) 

11 (Δ Price per Share + Dividends per Share) / Beginning Price per Share 29 Return on Equity 
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30. Below are select financial data items needed to calculate various ratios.  (Note: these are only excerpts from the financial 
statements, not the entire statements.)  Calculate the ratios in the spaces provided.  Also, give the formula for each 
ratio. 

Income Statement Data Items Year 3 Balance Sheet Data Items Year 3 
Revenues 4,800 Cash and Cash Equivalents 25 
COGS 3,200 Short term Investments 25 
SG&A Expense 1,200 Accounts Receivable 400 
Depreciation Expense 150 Inventory 620 
Operating Income (EBIT) 250 Total Current Assets 1,070 
Interest Expense 38 Total Assets 3,270 
Pre Tax Income 212 Accounts Payable 440 
Tax Expense 75 Total Current Liabilities 700 
Net Income 137 Interest Bearing Debt 500 
Dividends per Share 0.6 Owners' Equity 2,000 

  Number of Shares Outstanding 100 
 

Cash Flow Data Items Year 3 Other Items   
Operating Cash Flow 400 Beta 1 
Capital Expenditures -140     
Net Change in Interest Bearing Debt 150 Year End Stock Prices (FYE):   
Dividends paid -60      Year 3 $30.00  
Share repurchases (in $) -200       Year 2 $25.00  

 

Ratio # Profitability Measures and Ratios Value Formula 

1 Gross Margin Ratio 33.3% 1 – 3,200 / 4,800 

2 Cost Ratio 66.7% 1 – 33.3% = 3,200 / 4,800 

3 SG&A Ratio 25.0% 1,200 / 4,800 

4 EBIT Margin Ratio 5.2% 250 / 4,800 

5 Profit Margin Ratio 2.9% 137 / 4,800 

6 Effective Tax Rate  (ETR) 35.4% 75 / 212 

7 NOPAT 161.6 250 * (1 – 35.4%) 

  Efficiency Ratios     

8 Asset Turnover 1.5 4,800 / 3,270 

9 Days Sales in Inventory (DSI) 70.7 365 / (3,200 / 620) 

10 Days Sales Outstanding (DSO) 30.4 365 / (4,800 / 400) 

11 Days Payable Outstanding (DPO) 50.2 365 / (3,200 / 440) 

12 Cash Conversion Cycle 50.9 70.7 + 30.4  – 50.2 
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  Management Effectiveness Ratios    

13 Return on Assets 4.2% 137 / 3,270 

14 Return on Equity 6.9% 137 / 2,000 

15 Market Capitalization (Market Cap) 3,000 $30 * 100 

16 Return on Invested Capital 4.6% 161.6 / (500 + 3,000) 

  Financial Strength Ratios    

17 Current Ratio 1.53 1,070 / 700 

18 Quick Ratio 0.64 (25 + 25 + 400) / 700 

19 Debt to Capital Ratio 20.0% 500 / (500 + 2,000) 

20 Interest Coverage Ratio 6.6 250 / 38 

21 Effective Interest Rate (after tax) 4.91% 38 / 500 * (1 - 35.4%) 

  Valuation Ratios    

22 Market-to-Book Ratio 1.5 3,000 / 2,000 

23 Free Cash Flow to Equity (FCFE) 410 400 – 140 + 150 

24 % FCFE Returned 63.4% (60 + 200) / 410 

25 Dividend Payout Ratio 43.8% 60 / 137 

26 Dividend Yield 2.0% $0.60 / $30 

27 Total Return to Shareholders 22.4% (30 – 25 + 0.60) / 25 

28 Cost of Equity, using 3.5% Rf and 6% Risk Premium 9.5% 3.5% + 1.0 * 6% 

29 WACC 8.8% (500 * 4.91% + 3,000 * 9.5%)  / 
(500 + 3,000) 

 
31.  What is the formula for the “DuPont Model”? 
ROE = Profit Margin * Asset Turnover * Leverage = Net Income / Sales * Sales / Assets * Assets / Owners’ Equity 

 
EPS: Basic, Diluted, Pro Forma 
 
32.  Provide the names and the general formulas for the two EPS ratios. 
Basic EPS = Net Income / Average shares outstanding 
Diluted EPS = Basic EPS adjusted for more shares that could become outstanding through option exercises.  (There are 
sometimes adjustments made to the numerator as well, but these are not covered in the text.) 

 
33. Why do some firms and some analysts remove nonrecurring losses from their income statements? 
Firms and analysts want to “normalize” the income statement by removing these items.  Normalized statements (or those 
which approximate the “norm” or the normal situation) are used to facilitate comparisons with prior statements that do not 
have these losses.  Also, normalized statements are used as the starting point for forecasted financial statements.  
Nonrecurring losses, by definition, would not likely be a part of the firm’s future.  

 
34.  What are other names for pro forma EPS? 
Other names to describe pro forma EPS are adjusted EPS, normalized EPS, and non-GAAP EPS.  
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35.  A firm has the following income statement and share count.  Calculate basic and diluted EPS. 
Income Statement 

Revenues $60 
Cost of Goods Sold - 20 

SG&A Expense - 10 

Nonrecurring (Unusual) Loss - 10 

Operating Income 20 
Interest Expense - 5 

Pre Tax Income 15 
Tax Expense (Rate is 40%) - 6 

Net Income 9 
  

Basic Average Shares Outstanding 20 

Diluted Average Shares Outstanding 25 

    

Basic EPS 0.45 
Diluted EPS 0.36 

 
36.  Refer to the previous problem.  Calculate basic and diluted EPS on a pro forma basis (after eliminating the 

nonrecurring loss). 
Income Statement 

Revenues $60 
Cost of Goods Sold - 20 

SG&A Expense - 10 

Nonrecurring (Unusual) Loss 0 

Operating Income 30 
Interest Expense - 5 

Pre Tax Income 25 
Tax Expense (Rate is 40%) - 10 

Net Income 15 
  

Basic Average Shares Outstanding 20 

Diluted Average Shares Outstanding 25 

    

Pro forma Basic EPS 0.75 
Pro forma Diluted EPS 0.60 
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Chapter 5 Q&A:  Working Capital  
 
Cash; Accounts Receivable and Credit Risk; Notes Receivable 
 
1. What are cash equivalents? 

Cash equivalents are instruments, such as treasury bills and commercial paper, with original maturities of three months 
or less, meaning they will convert to cash within that period of time.  Hence, they are close to cash in time, and thus are 
usually combined with cash on the balance sheet.  

 
2. What is restricted cash? 

Restricted cash is cash that has been designated for a specific purpose.  The restrictions can be imposed either internally 
(such as by management for a particular project) or externally (by an outside party, such as a lender).  Restricted cash is 
not combined with the cash account on the face of the balance sheet for reporting purposes, but rather is designated 
typically as “other asset” or investment. 

 
3. What are accounts receivable? 
Accounts receivable are amounts owed to a firm from previous credit sales.  Normally these are not interest bearing, and 
they are shown as current assets.  

 
4.  What is the main risk associated with accounts receivable? 
The main risk is credit risk, or the risk of the firm not getting paid.  (There is also exchange rate risk for receivables from 
overseas customers.) 

 
5.  What is the purpose of the allowance for doubtful accounts? 
The purpose of the allowance account is to measure and disclose the amount of credit sales not expected to be realized 
as cash. 

 
6.  Give the formula to calculate net realizable value of accounts receivable. 
Net realizable value = Gross Accounts Receivable – Allowance for Doubtful Accounts 

 
7.  What are two main methods to calculate credit risk (bad debt expense)? 
1.  Percentage of Credit Sales Method:   
     Bad Debt Expense = Percentage of Credit Sales Estimated Uncollectible * Credit Sales  
2.  Percentage of Receivables Method: 
     Step 1:  Required Allowance = Percentage of Accounts Receivable Estimated Uncollectible * Accounts Receivable.  
     Step 2:  Bad Debt Expense = Required Allowance – Current Allowance  

 
8.  What is another name for Percentage of Receivables Method? 
The Percentage of Receivables Method is also called the Aging Method. 

 
9. Assume a customer agrees to purchase two items (X and Y) from a seller.  The values of X and Y are $120 and 

$80, respectively.  Per the terms of the contract, payment of X is contingent upon delivery of Y.  
 

The seller delivers X, which satisfies one of the performance obligations under the contract.   
 
 a.  What entry would the seller make after the delivery of X? 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Contract Asset + 120   Revenue + 120 Contract Asset 120  
       Revenue  120 
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b.  What entries would the seller make after the delivery of Y?   
Assets Liabilities Owners' Equity Debit Credit $ $ 

Accounts Receivable + 120     Accounts Receivable 120  
Contract Asset - 120      Contract Asset 120 
 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Accounts Receivable + 80   Revenue + 80 Accounts Receivable 80  
       Revenue  80 
 
c.  What entry would the seller make upon full payment by the customer, for both X and Y? 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash +200     Cash  200  
Accounts Receivable -200      Accounts Receivable 200 
 
10.  A firm has credit sales of $200 and estimates 10% to be uncollectible.   
 
a.  Journalize the sales and the estimate of bad debt expense. 
 
Sales: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Accounts Receivable +200   Revenues + 200 Accounts Receivable 200  
       Revenues  200 
 
Estimate of Bad Debt Expense: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Allowance - 20   Bad Debt Expense - 20 Bad Debt Expense 20  
       Allowance  20 
 
b.    Assume that the estimate of 10% is correct, and the firm collects $180.  Journalize the collection and the write-off of the 

uncollectible receivable. 
 
Collection: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash +180     Cash  180  
Accounts Receivable -180      Accounts Receivable 180 
 
Write-off: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Accounts Receivable - 20     Allowance  20  
Allowance +20      Accounts Receivable 20 

 
11.  A firm has opening balances of accounts receivable and allowance for doubtful accounts of $80 and $8, respectively.  

The following events occur over the course of the ensuing fiscal period. Journalize each of the below events. 
  
a.  A firm makes $400 of credit sales.  (Ignore COGS.) 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Accounts Receivable +400   Revenue  + 400 Accounts Receivable 400  
       Revenue  400 
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b.   The firm records bad debt expense related to the above credit sales. The firm uses the Percentage of Credit Sales 
Method, and it estimates 5% of credit sales to be uncollectible.  

Assets Liabilities Owners' Equity Debit Credit $ $ 
Allowance - 20   Bad Debt Expense - 20 Bad Debt Expense 20  
       Allowance  20 
 
c.  The firm collects $140 from credit customers. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash +140     Cash  140  
Accounts Receivable -140      Accounts Receivable 140 
 
d.  The firm writes-off $12 of receivables. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Accounts Receivable -12     Allowance  12  
Allowance +12      Accounts Receivable 12 
 
e.  Post the above events to the ledger accounts below (both equations and T-accounts) and derive the ending balances: 

Accounts Receivable     

Beginning Balance Credit Sales Cash Collections Write off Ending Balance 

80 + 400 - 140 - 12 328 
 

Allowance    

Beginning Balance Bad Debt Expense Write off Ending Balance 

- 8 - 20 + 12 - 16 
 

Accounts Receivable  Allowance 
80    8 

400 140   20 

 12  12  
       

328    16 
 

12.  A firm's balance sheets at the beginning and end of the year show gross accounts receivable of $32 and $28, 
respectively.  Also, the firm's beginning and ending allowance for uncollectible accounts are -$4 and -$5, respectively.  
Bad debt expense was $4, which was 2% of credit sales.  The firm makes all sales on account.  How much cash was 
collected from customers?   
Allowance Account:  – 4 beginning – 4 bad debt expense + write-offs (?) = – 5 ending  
Therefore write-offs = 3.  This amount can then be substituted into the below equation. 
 
Accounts Receivable:  32 beginning + $4 / .02  credit sales – cash collections  (?) – 3 write-offs = 28 ending 
Therefore, cash collections = $201. 
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13.  Complete the below aging schedule for a firm’s accounts receivables: 

Aging Schedule Amount 
Percentage 
Estimated 

Uncollectible 

Amount 
Estimated 

Uncollectible 

Current (not delinquent) $200 1% $2 

30 days past due 20 5% 1 

60 days past due 60 30% 18 

90 + days past due 40 40% 16 

Total Receivable $320   

Required Balance in Allowance   - $37 

Current amount in Allowance  
after write-offs   - $24 

(given) 
Adjustment to Allowance   - $13 

 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Allowance - 13   Bad Debt Expense -13 Bad Debt Expense 13  
       Allowance  13 

 
14.  Describe Big Bath Accounting and why it is considered illegal. 
Big Bath Accounting is taking larger than needed charges for expenses (such as bad debt expense) in the current period 
and then reversing the extra charges in the next period to give the appearance of improving financial results.  If done with 
the willful intent to deceive (fraud), which may be likely but hard to prove, Big Bath Accounting is illegal. 

 
15.  What is the main difference between accounts receivable and notes receivable? 
Notes receivable typically charge interest, whereas accounts receivable typically do not. 

  
16. What is the formula for simple interest? 
Interest = Principal * Rate * Time 

 
17. A firm sells to a customer on credit in exchange for a note receivable.  The interest rate on the note is 6% per year 

(simple interest).  Both the interest and the principal are due in 1 year.  The amount of the sale is $1,000.  The cost of 
goods sold (COGS) is $750.  The sale occurred on November 1, Year 1.  The firm’s fiscal yearend is December 31.  
 
Provide all journal entries related to the sale, the accrual of interest income at fiscal yearend, and the collection of the 
principal and interest on the due date of the note. 
 

a.  Sale date: November 1, Year 1 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Note Receivable + 1,000   Revenue + 1,000 Note Receivable 1,000  
       Revenue  1,000 
Inventory - 750   COGS - 750 COGS 750   
       Inventory 750 
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b.  Accrual of Interest Income:  December 31, Year 1 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Interest Receivable + 10   Interest Income + 10* Interest Receivable 10  
       Interest Income** 10 
*Interest = Principal * Rate * Time = $1,000 * 6% * 2 /12 (For the period covering November and December) 
** We are using Interest Income, indicating that seller-financing is not a regular part of this firm’s operations. “Revenue” could 
be used if the firm regularly provides financing services. As described in the text, Interest Income will generally be shown on 
the Income Statement below Operating Income (also called EBIT, or Earnings Before Interest and Taxes). Interest Income 
is often netted against any Interest Expense.  

 
c.  Collection of Note Receivable principal and all interest:  November 1, Year 2 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Note Receivable - 1,000   Interest Income + 50* Cash 1,060  
Interest Receivable - 10      Note Receivable 1,000 
Cash  + 1,060       Interest Receivable  10 
       Interest Income 50 
*Interest = Principal * Rate * Time = $1,000 * 6% * 10/12  (For the period covering 10 months, January through October) 

 
18.  Describe two ways in which a firm can use receivables to accelerate cash flow. 
A firm can sell the receivables or borrow against them (i.e., use the receivables as collateral in a loan). 

 
19.  What is the difference between factoring and discounting? 
The difference is really only a matter of conventional terminology.  Firms factor accounts receivable and discount notes 
receivable.   

 
20.  A firm (Firm A) discounts a note receivable at a financial institution.  The discount amounts to 2% of the note's face 

value of $50.  The discount is “with recourse” to Firm A.  The customer (Firm B) fails to pay the financial institution on 
the due date. 

a.  From Firm A's perspective, journalize the discount of the note. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash + 49   Interest Expense - 1 Interest Expense 1  
Note Receivable - 50     Cash  49  
       Note Receivable 50 
 
b.    Again from Firm A's perspective, journalize the repayment of the note to the financial institution due to the customer’s 

failure to pay. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Note Receivable + 50     Note Receivable 50  
Cash - 50      Cash  50 
 
21.  What was the main reason that the accounting for securitizations changed from sales to financings for most situations? 
Firms continued to have significant involvement with the receivables that they had purportedly sold.  Many of the receivables 
that had been transferred (i.e., “sold”) turned out to be low quality (high credit risk).  Firms had to recognize the receivables 
back on their balance sheets at that point, and thus, the standards raised the threshold for achieving sales accounting. 

 
22.  Why was sales accounting so popular with firms who engaged in securitizations? 
Many firms were essentially able to borrow “off balance sheet.” 
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Unearned Revenue (Contract Liability) 
 
23. Assume a retailer sells an extended warranty which will cover repairs and replacements for up to 5 years.  The selling 

price of the extended warranty is $660. The warranty was sold on November 1, Year 1. 
 

Provide all journal entries for Year 1 and Year 2.  Assume the warranty coverage commences on November 1, Year 1. 
The retailer’s fiscal yearend is December 31. No claims for repairs or replacements were made during the first two 
years. The firm uses straight-line amortization of the unearned revenue. 

 
a.  Sale of warranty:  November 1, Year 1 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 660 Unearned Revenue + 660   Cash 660  
       Unearned Revenue 660 
 
b.  Fiscal yearend:  December 31, Year 1 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Unearned Revenue - 22* Revenue + 22 Unearned Revenue 22  
       Revenue 22 
*$22 = 660*1/5*2/12 
 
c.  Fiscal yearend:  December 31, Year 2 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Unearned Revenue - 132* Revenue + 132 Unearned Revenue 132  
       Revenue 132 
*$132 = 660*1/5 
 
Sales Discounts, Returns, and Allowances 
 
24.  What is a sales discount?  Sales allowance?  Sales return? 
A sales discount is a reduction in a selling price to encourage early payment.  A sales allowance is a reduction in selling 
price to entice a customer not to return an item of inventory.  A sales return is simply a return of a previously recognized 
sale.  All three items would be shown as contra-accounts to revenues.  

  
25. Assume a firm sells inventory to a customer for $1,000. The sale was a credit sale.  The cost of the inventory sold 

(COGS) was $600. It is estimated that 1/4 of the sale will be returned by the customer. Journalize the following events 
from the firm’s point of view, i.e. the seller’s, not the customer’s. 
 

a.  The credit sale and related cost of goods sold. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Accounts Receivable +1,000   Revenue + 1,000 Accounts Receivable 1,000  
       Revenue  1,000 
Inventory - 600   COGS - 600 COGS  600  
       Inventory  600 
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b.  The estimate of the sales return.  
Assets Liabilities Owners' Equity Debit Credit $ $ 

Allowance for Returns -250   Sales Returns - 250 Sales Returns 250  
       Allowance for Returns 250 
Return Asset +150   COGS  + 150 Return Asset 150  
       COGS  150 
 
c.  Actual sales returns, which were the same as expected.  

Assets Liabilities Owners' Equity Debit Credit $ $ 
Allowance for Returns +250     Allowance for Returns 250  
Accounts Receivable -250      Accounts Receivable 250 
Inventory +150     Inventory 150  
Return Asset -150      Return Asset 150 
 
d.  Receipt of the payment from the customer for the balance due. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash +750     Cash 750  
Accounts Receivable -750      Accounts Receivable 750 

  
26. Repeat the previous problem, but assume the sale was a cash sale. 
 
a.  The cash sale and related cost of goods sold. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash +1,000   Revenue + 1,000 Accounts Receivable 1,000  
       Revenue  1,000 
Inventory - 600   COGS - 600 COGS  600  
       Inventory       600  
 
b.  The estimate of the sales return.  

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Refund Liability + 250 Sales Returns - 250 Sales Returns 250  
       Refund Liability 250 
Return Asset +150   COGS  + 150 Return Asset 150  
       COGS  150 
 
c.  Actual sales returns, which were the same as expected.  

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash -250 Refund Liability - 250   Refund Liability 250  
       Cash 250 
Inventory +150     Inventory 150  
Return Asset -150      Return Asset 150 
 
d.  What were net Sales and net COGS for the above problem? 
Net Sales:  $750; Net COGS:  $450  
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Inventories 
 
27.  What are the three main inventories for a manufacturer? 
The three main inventories are:  direct materials, work-in-process, and finished goods.  All three must be disclosed (if 
material in amount).  Most firms provide the details about the three inventories in the notes. 

 
28.  Explain when depreciation Is capitalized, rather than expensed. 
Depreciation on factories and depreciation on equipment that is used in manufacturing are both capitalized into work-in-
process inventory.  

29. Fill in the missing numbers below for a manufacturer’s inventory accounts: 
Direct Materials  

Beginning Balance + Purchases - Direct Materials 
Transferred Ending Balance 

5 + 6 - 8 3 
 

Work-in-Process    

Beginning Balance + Direct Materials 
Transferred + Direct Labor + Overhead - Cost of Goods 

Manufactured Ending Balance 

12 + 8 + 4 +   3 Indirect Labor 
+   1 Rent 
+   4 Utilities 
+   2 Insurance 
+   5 Depreciation 

- 20 19 

 
Finished Goods  

Beginning Balance + Cost of Goods 
Manufactured 

- Cost of Goods 
Sold Ending Balance 

20 + 20 - 30 10 
 

30. True or False:  Depreciation on factory equipment is expensed during the period incurred.  Briefly explain your answer. 
False.  Depreciation on manufacturing facilities and equipment is capitalized as part of inventory.  It will be expensed in the 
period in which the inventory is sold, that is, included in COGS. 

 
Inventory Valuation: Specific ID, LIFO, FIFO, Average 
 
31.  When is the specific identification method of inventory valuation used? 
The specific identification method is typically used when the item is unique, special order, or high value. 

 
32.  What does LIFO stand for?  FIFO? 
LIFO and FIFO stand for, respectively, last-in-first-out and first-in-first-out. 

 
33.  When prices for inventories rise over a period, which inventory costing method should a firm use to reduce taxes? 
LIFO will reduce taxes in an inflationary environment because the last inventory items purchased will be more expensive 
and give a higher deduction on the tax return (as cost of goods sold). LIFO is not allowed under IFRS. 
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34.  Identify by writing “highest” or “lowest” next to the inventory method that gives the highest or lowest (ending) inventory 
values under each pricing environment (inflation or deflation).  

Highest/ Lowest Inventory Values 
 Inflation Deflation 
FIFO Highest Lowest 
LIFO Lowest Highest 

 
35.  Identify by writing “highest” or “lowest” next to the inventory method that gives the highest or lowest net income under 

each pricing environment (inflation or deflation). 
Highest/Lowest Net Income 

 Inflation Deflation 
FIFO Highest Lowest 
LIFO Lowest Highest 

 
36. If a firm has 10 units of inventory costing $20 each and 40 units of inventory costing $25 each, what is the weighted 

average cost of the inventory? 
Weighted Average Cost = (10 * $20 + 40 * $25) / (10 + 40) = $24 per unit 

 
37.  Assume the following inventory data for a retailer. 
Retail Inventory # units $ / unit Total 
Beginning Inventory 1 20 20 
Purchase of Inventory 1 22 22 
Purchase of Inventory 1 24 24 
Purchase of Inventory 1 26 26 
Goods Available for Sale (GAFS) 4  92 
Sale of Inventory 1 40 40 
Ending Inventory 3 

 
 

 
a.  Calculate COGS, ending inventory, and gross profit in the schedule below for each of the costing methods listed. 

 GAFS  
($) COGS Ending 

Inventory 
Gross  
Profit 

FIFO $92 20 72 20 

Average $92 23 69 17 

LIFO $92 26 66 14 
 
b.  Refer to a.  State the method that gives the highest net income, and briefly describe why. 

FIFO will give the highest net income, because it has the lowest cost of goods sold.  Due to inflation, the first ones in are 
cheaper, and under FIFO, these are considered to be sold first. 
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38.  Assume the following inventory data for a retailer.  
Retail Inventory # units $ / unit Total 
Beginning Inventory 10 $20  $200  
Purchase of Inventory 8 $21  $168  
Purchase of Inventory 10 $25  $250  
Goods Available for Sale (GAFS) 28   $618  
Sale of Inventory 15 $30  $450  
Ending Inventory 13   

 
a.  Calculate COGS, ending inventory, and gross profit for all three methods. 

  GAFS ($) COGS Ending 
Inventory 

Gross 
Profit 

FIFO $618 305.00 313.00 145.00 
Average $618 331.07 286.93 118.93 
LIFO $618 355.00 263.00 95.00 

 
b.  Calculate the absolute dollar amount that the LIFO liquidation added to gross profit by recalculating COGS as if the firm 

had had sufficient number of units in the last layer purchased.  The recalculated COGS is referred to as pro forma below.  
LIFO COGS (as reported) $355  
LIFO COGS (pro forma) 375  
Effect of liquidation 20 

 
39.  What special disclosures are required when a LIFO liquidation occurs? 
Firms must show what the margins would have been had the firm not liquidated an older (and cheaper) layer of inventory. 

 
40.  The data below are similar to that in the previous data set, except that the price of the inventory decreases, rather than 

increases. 
Retail Inventory # units $ / unit Total 
Beginning Inventory 10 $25  $250  
Purchase of Inventory 8 $21  $168  
Purchase of Inventory 10 $20  $200  
Goods Available for Sale (GAFS) 28   $618  
Sale of Inventory 15 $30  $450  
Ending Inventory 13   

 
Calculate COGS, ending inventory, and gross profit for all three methods. 

 GAFS ($) COGS Ending 
Inventory 

Gross 
Profit 

FIFO $618 355.00  263.00  95.00  

Average $618 331.07  286.93  118.93  

LIFO $618 305.00  313.00  145.00  
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41.  What is the purpose of the LIFO Allowance account? 
The LIFO allowance account is used to revalue inventory from FIFO to LIFO.  It is a contra-account, and it effectively holds 
all of the inflation on the inventory.  Many firms use FIFO for internal record keeping and then switch to LIFO for tax 
purposes.  LIFO provides a bigger deduction than FIFO during periods of inflation.  The offset (in the journal entry) to the 
LIFO allowance account is COGS. 

   
42. What inventory costing test must be applied to see if inventory has lost value due to obsolescence? 
At the end of every fiscal period, firms must apply the lower of cost or market test (LCM) or lower of cost or net realizable 
value (LCNRV) to see if the inventory must be written down.  

 
Retail and Gross Margin Estimation Methods 
 
43.   Describe the “retail method” of inventory valuation. 

Retailers estimate their ending inventory at retail values using this equation: 
 
Beginning Inventory(RETAIL) + Purchases(RETAIL) - Sales(RETAIL) = Ending Inventory(RETAIL) 
 
They then multiply Ending Inventory(RETAIL) by a cost ratio.  One widely used cost ratio is the average cost ratio: 
 
Average Cost Ratio = (Beginning Inventory(COST) + Purchases(COST)) / (Beginning Inventory(RETAIL) + Purchases(RETAIL)) 
 
The product of these two values (Ending Inventory(RETAIL) and the Average Cost Ratio) is the value of ending inventory at 
average cost, which is reported on the balance sheet.  

 
44. Assume a retailer uses the retail method to estimate inventories for financial reporting purposes.  Its beginning inventory 

and purchases at cost and retail, along with sales (at retail prices) are listed below.  Fill in the table with the solutions 
for ending inventory at retail, ending inventory at cost, and finally, COGS (at cost).  Also provide the cost ratio, using 
the average cost ratio. (Hint: multiply the cost ratio by the ending inventory at retail to get the ending inventory at cost.) 

  Cost Retail 
Beginning inventory $30  $60  
Purchases 70 120 
COGS 61.11    
Sales   110 
Ending inventory 38.89  $70  
Average cost ratio 55.56% = (30+70)/(60+120) 

  
45. Describe the gross margin method of inventory valuation. 

Firms estimate COGS from the following equation: 
Gross Margin Ratio = (Sales - COGS) / Sales, where the gross margin ratio is estimated from prior periods. 
Next, they solve for ending inventory, given COGS, in the following equation: 
Beginning inventory + Purchases - COGS = Ending inventory  

 
46. Assume a firm uses the gross margin method to estimate its ending inventory.  The following data for beginning 

inventory, purchases, sales, and the gross margin ratio are provided.  Calculate the missing amounts. 
Beginning inventory $40   

Purchases 90   

Sales 80   

Gross margin ratio 30%  

COGS 30%    = (80 - COGS) / 80 
COGS = 56 

Ending inventory 74 = 40 + 90 - 56 
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Inventory Fraud 
   

47. Explain how the “inventory fraud” works. 
If firms overstate ending inventory, they understate COGS, meaning they overstate net income.  Therefore, the fraud is to 
overstate ending inventory. (Don’t do it.)  

 
48.  True or False:  If ending inventory is overstated, net income will be overstated.  Briefly explain your answer. 
True.  This is because if ending inventory is overstated, COGS is understated.  The formula to illustrate this is:  beginning 
inventory + purchases of inventory = ending inventory + cost of goods sold.  The left side of the equation (which is GAFS) 
is a fixed amount.  Thus, if more of GAFS is assigned to ending inventory, less must be assigned to cost of goods sold. 

 
Periodic versus Perpetual Inventory Systems 
 
49. What is the main difference between the periodic and perpetual inventory systems? 
The periodic system measures COGS and inventory at the end of the period.  The perpetual system measures COGS and 
inventory throughout the period (at the point of each sale).   

 
50. Assume the following inventory data for a retailer.  Notice that the firm makes an additional purchase after the sale. 

Retail Inventory # units $ / unit Total 
Beginning Inventory 1 20 20 
Purchase of Inventory 1 22 22 
Sale of Inventory 1 40 40 
Purchase of Inventory 1 24 24 
Goods Available for Sale (GAFS) 3  $66 
Ending Inventory in Units 2 

 
 

 
Calculate COGS, ending inventory, and gross profit in the schedule below for each of the costing methods listed, using both 
the periodic and perpetual systems.   

  Perpetual Periodic 

 GAFS  
($) COGS Ending 

Inventory 
Gross  
Profit COGS Ending 

Inventory 
Gross  
Profit 

FIFO $66 20 46 20 20 46 20 

Average $66 21 45 19 22 44 18 

LIFO $66 22 44 18 24 42 16 
 
51. Assume the following inventory data for a retailer.  Notice that the firm makes an additional purchase after the sale. 

Retail Inventory # units $ / unit Total 
Beginning Inventory 10 20 200 
Purchase of Inventory 12 22 264 
Sale of Inventory 8 40 320 
Purchase of Inventory 4 24 96 
Goods Available for Sale (GAFS) 26  $560 
Ending Inventory in Units 18 

 
 

 
Calculate COGS, ending inventory, and gross profit in the schedule below for each of the costing methods listed, using both 
the periodic and perpetual systems.   
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  Perpetual Periodic 

 GAFS  
($) COGS Ending 

Inventory 
Gross  
Profit COGS Ending 

Inventory 
Gross  
Profit 

FIFO $560 160.00 400.00 160.00 160.00 400.00 160.00 

Average $560 168.73 391.27 151.27 172.31 387.69 147.69 

LIFO $560 176.00 384.00 144.00 184.00 376.00 136.00 
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Chapter 6 Q&A:  Investments and Long-lived Assets  
 
Equity Investments: Passive; Equity Method; Control and Consolidation 

 
1. What are the three levels of ownership of equity securities for accounting purposes? 
The three levels of ownership are:  minority passive (between 0% ownership and about 20%); minority active, or significant 
influence (from about 20% to 50% ownership), and control (over 50%). 

 
2.  Describe the accounting treatment for minority passive level of ownership for equity investments 
Passive equity investments are marked-to-market, with the adjustments (either gains or losses) recognized in the income 
statement. The accounting treatment is typically described as “Fair Value through Net Income” and abbreviated as FVTNI. 

 
3.  What is the name of the accounting method that is used when the level of ownership rises to significant influence? 
The name is the equity method. 

 
4.  When is the receipt of a dividend not considered investment income? 
When the firm is using the equity method, the receipt of a cash dividend is offset (in the journal entry) with a reduction in 
the investment account, rather than recognition of investment income. 

 
5.  At what level of ownership does one firm consolidate its investment in another firm? 
Consolidation occurs at the level of control, which is usually over 50% ownership of the outstanding voting shares of stock. 

 
6. A firm (an investor) buys the stock of another company by paying $500 cash. 
 
a.  Record the purchase of the stock. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Investment + 500     Investment  500  
Cash - 500      Cash  500 
 
Assume that the investor has only a minority passive interest and also uses fair value accounting.  During the year after the 
acquisition, the stock price rises to $550. 
 
b.  Record the increase in value. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Investment + 50   Gain + 50 Investment  50  
       Gain  50 
 
c.   Assume that the investor has minority active interest (significant influence) over the investee by owning 25% of the 

shares.  Also assume that the investee has total income of $100.  Record the investor’s investment income. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Investment + 25   Investment Income +25 Investment  25  
       Investment Income 25 
 
d.   Assume that the investee pays a $10 cash dividend to the investor.  Record the investor's receipt of the dividend, 

assuming a minority passive level of ownership. 
 
 



Fundamentals of Financial Accounting and Analysis – Q&A                                                                                   Chapter 6 
 

©Stephen H. Bryan, Ph.D. 53 Q&A  

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 10   Investment Income +10 Cash  10  
       Investment Income 10 
 
e.   Repeat part d, but now assume that the investor has significant influence over the investee.  Record the investor’s 

receipt of the dividend. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash + 10     Cash  10  
Investment - 10      Investment  10 
 
7.  Assume the following information about a firm’s investment in a marketable equity security.  The firm does not sell the 

investment at any time, irrespective of any of the classifications of the security. 
Cost of the investment when purchased (at the beginning of Year 1) $10 
Market value of investment at end of Year 1 $18 
Market value of investment at end of Year 2 $8 
Investor’s % ownership of investee 20% 
Investee’s earnings for Year 1 $50 
Investee’s total dividend payments for Year 1 $10 
Investee’s earnings for Year 2 (loss) - $20 
Investee’s total dividend payments for Year 2 $10 

 
a.   If the firm (the investor) is a minority passive investor, give the effect on the firm’s net income from its investment for 

each of the two years: 

Investment Classification:  Minority Passive 

Year Effect on Investor’s Net Income 
1 + 10 =  +  8 + 2 (unrealized gain + dividend) 
2    - 8 =  - 10 + 2 (unrealized loss + dividend) 

 
b.   If the firm has significant influence over the investee, give the effect on the firm’s net income from its investment over 

the two years: 

Investment Classification:  Significant Influence 

Year Effect on Investor’s Net Income 
1  + 10 (20% *  50) (% of investee’s income)  
2  -   4  (20% * -20) (% of investee’s loss) 

  
8.  What does NCI stand for? 
NCI stands for noncontrolling interest, which is a component of owners’ equity and which represents the minority 
shareholders’ claims on the net assets of a combined (consolidated) entity. 

 
9. Calculate the amount of goodwill resulting from an acquisition in which the acquirer buys 100% of a target firm and pays 

$110 for net identifiable assets valued at $80.   
30 = 110 – 80 

 
10.  Refer to the above problem.  Assume the firm buys only 80% and therefore pays $88.  Calculate the amount of goodwill 

and non-controlling interest, under U.S. GAAP. 
Total Goodwill would be unaffected, so remains at $30.  Under U.S. GAAP, NCI is $22, or 20%*110. 
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11.  Assume the following balance sheet for a firm that will be acquired by another firm.  The book values of the assets and 
liabilities are the same as market values. 

Balance Sheet of Target Firm 
(Book Value = Market Value) 

Cash $10  
Inventory 20 
Property, Plant, and Equipment 30 
Total Assets $60 
Liabilities 20 
Stock 30 
Retained Earnings 10 
Total Liabilities and Owners' Equity $60 

 
An acquirer purchases the above firm by paying $60 cash for 100% of the outstanding shares.  
 
a.  Record the acquisition. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 60     Investment  60  
Investment + 60      Cash  60 
 
b.   Give the acquiring firm's consolidation entry to remove the investment account and to consolidate the acquired firm's 

balance sheet. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Investment - 60 Liabilities + 20   Cash  10  
Cash + 10     Inventory  20  
Inventory + 20     PP&E  30  
PP&E + 30     Goodwill  20  
Goodwill + 20      Liabilities  20 
       Investment  60 
 
Repeat parts a. and b., but assume that the acquiring firm spends $54 and therefore buys 90% of the acquired firm, rather 
than 100%.   
 
c.  Record the acquisition by the acquiring firm: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 54     Investment  54  
Investment + 54      Cash  54 
 
d.  Record the consolidation entry: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Investment - 54 Liabilities + 20 Noncontrolling Interest + 6 Cash  10  
Cash + 10     Inventory  20  
Inventory + 20     PP&E  30  
PP&E + 30     Goodwill  20  
Goodwill + 20      Liabilities  20 
       Investment  54 
       Noncontrolling Interest 6 
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e.  Assume that the above goodwill was later tested for impairment, and the value of goodwill was estimated to be only $5. 
Give the journal entry to record the impairment of goodwill. 
 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Goodwill - 15   Impairment loss - 15 Impairment loss  15  
       Goodwill  15 
 
Investments in Debt Securities 
 
12.  What are the three categories of investment in debt, rather than stock? 
The three categories are trading, available-for-sale, and held-to-maturity.   

 
13.    Assume a firm buys the bonds of another firm.  The buyer of the bonds is therefore an investor in the other firm’s 

debt, as well as a lender to that firm.  The bonds are purchased for $900.  At the end of the first reporting period 
(year), the value of the bonds has increased to $980.   
 

a.  If the bonds are classified as trading, give the journal entry to record the change in the value of the bonds. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Investment + 80   Gain + 80 Investment 80  
       Gain 80 
 
b.  Refer to the above data.  Now assume that the bonds are classified as available-for-sale.  Give the journal entry to record 
the change in the value of the bonds. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Investment + 80   AOCI + 80 Investment 80  
       AOCI 80 
 
c.  Subsequent to the above entry for bonds classified as available-for-sale, assume the bonds were sold for $980.  Give the 

entry to recognize the sale and the gain. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Investment - 980   Gain + 80 Cash 980  
Cash + 980   AOCI - 80  Investment 980 
      AOCI 80  
       Gain 80 
 
d.  True/False  If the above bond investments were classified as held-to-maturity, the bonds would not be marked-to-market 

and no journal entry would be required to recognize the change in value. 
True 

 
14.  What does AOCI stand for, and what is its purpose? 
AOCI stands for accumulated other comprehensive income.  AOCI is a component of owners’ equity.  It is used to “store” 
gains and losses outside of the income statement, until a later point in time when another event occurs, such as the sale 
of an underlying security that is marked-to-market and whose gains and losses are deferred. 
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Intangible Assets; Fixed Assets 
 
15.  What is the main attribute of an intangible asset that is used to determine whether or not it will be amortized? 
The main attribute is whether the life of the asset is finite or non-finite.  Intangibles with finite lives are amortized, and 
intangibles with non-finite lives are not. 

 
16.  Which of the below long-lived assets are amortized or depreciated (yes) and which are not (no)? 

Account Yes or 
No? 

Buildings Yes 
Land No 
Goodwill No 
Patents Purchased Yes 
Copyrights Yes 
Trademarks to be renewed indefinitely No 
Equipment Yes 

 
17.  A firm buys equipment from a manufacturer.  The manufacturer also has a financing division that will finance the firm's 

purchase.  The terms of the sale require the firm to pay the manufacturer for the equipment in one year.  The amount 
to be paid is $220, which includes $20 of interest.  

 
a.  Journalize the purchase of the equipment.  Use Equipment and Note Payable. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Equipment + 200 Note Payable + 200   Equipment  200  
       Note Payable 200 
 
b.  Journalize the firm's payment of the principal and interest to the manufacturer in one year. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 220 Note Payable - 200 Interest Expense - 20 Interest Expense 20  
      Note Payable 200  
       Cash  220 
 
18.  Under what circumstances is interest capitalized, rather than expensed? 
Interest is generally capitalized for self-constructed assets for a firm’s own use, as well as discrete inventory projects.  

 
19.  Assume that a firm spends $100 to build a building for its own use.  This is a self-constructed asset, which, while under 

construction, is referred to as “Construction in Progress” (CIP).  The firm also has debt of $500 that has an interest rate 
of 6%.  Give the journal entry to recognize the amount of interest expensed and the amount of interest capitalized. The 
firm pays cash for the amount of interest it owes the bank. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 30   Interest Expense - 24 Interest Expense 24  
CIP + 6     CIP  6  
       Cash  30 
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Depreciation Methods; Disposition 
 
20.  Why do firms sometimes choose accelerated depreciation over straight line depreciation? 
Taking more depreciation early in an asset’s life (which would happen with an accelerated method) and therefore taking 
less depreciation later in the asset’s life, would counterbalance ownership expenses, such as repairs expense, which is 
relatively small at the beginning of the asset’s life, yet large towards the end. 

 
21.  What is the formula for straight-line depreciation? 
Straight line depreciation = (Cost – Residual Value) / Life 

 
22.  What is the formula for double declining balance depreciation? 
Double Declining Balance = (Cost – Accumulated Depreciation) * 2 * 1 / Life 

 
23.  Set up a depreciation schedule, using straight line, sum-of-the-years’ digits, and double declining balance, for an asset 

that costs $88, has an $8 salvage value, and has an expected life of 4 years.  
 Year  
Depreciation Method 1 2 3 4 Total 
Straight line 20 20 20 20 80 
Sum-of-the-years’ digits 32 24 16 8 80 
Double Declining Balance 44 22 11 3 80 

 
24.  Refer to the above problem.  Explain why depreciation expense for year 4, using double declining balance, is only $3. 
The formula for depreciation expense in year 4 is:  (88 – 44 – 22 – 11) * 2/4 = 5.5, but this amount of depreciation would 
make accumulated depreciation greater than $80 (44+22+11+5.5=82.5), which is the maximum allowed.   
Therefore, the maximum depreciation expense allowed in the final year is only $3 (44+22+11+3=80).    
Excel catches this “problem” and automatically assigns the value of $3: =DDB(88,8,4,4,2) = 3. 

  
25.  Assume the firm decides to sell the above asset at the end of Year 3 for $20.   

 
a.  Record the sale assuming the firm had used the straight line method. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 20   Loss - 8 Cash  20  
Asset - 88     A/D  60  
A/D + 60     Loss  8  
       Asset  88 
 
b.  Record the sale assuming the firm had used the double declining balance method. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 20   Gain + 9 Cash  20  
Asset - 88     A/D  77  
A/D + 77      Asset  88 
       Gain  9 
 
26.  A firm buys equipment for $400.  The salvage value is expected to be $20, and the expected useful life is ten years. 
 
a.   Calculate depreciation expense for the first year and the book value of the equipment at the end of the first year using 

both of the below methods. 
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Depreciation Method Depreciation 
Expense Book Value 

Straight Line 38 362 
Double Declining Balance 80 320 

 
b.   Give the journal entry for straight line depreciation (for the first year) assuming that the depreciation is expensed 

immediately. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

A/D - 38   Depreciation Expense -38 Depreciation Expense 38  
       A/D  38 
 
c.   Give the journal entry for straight line depreciation (for the first year) assuming that the depreciation is capitalized as 

part of inventory. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

A/D - 38     Inventory-WIP 38  
Inventory-WIP + 38      A/D  38 
 
d.   If the firm sells the equipment after the first year for $350 cash, give the entry assuming that the firm had been using 

straight line depreciation for the year. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash + 350   Loss - 12 Cash  350  
Equipment - 400     Loss  12  
A/D + 38     A/D  38  
       Equipment  400 
 
e.   If the firm sells the equipment after the first year for $350 cash, give the journal entry assuming that the firm had been 

using double declining balance depreciation for the year. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash + 350   Gain + 30 Cash  350  
Equipment - 400     A/D  80  
A/D + 80      Equipment  400 
       Gain  30 
 
Impairments; Restructuring; Repairs; Discontinued Operations 
 
27. What is an impairment loss? 
An impairment loss is the reduction in the value of an asset below its cost (or carrying value).  When deemed impaired, an 
asset is written down, with an offsetting loss to owners’ equity. Impairments generally may not be reversed under U.S. 
GAAP, i.e., if the value of the asset were to recover.  Many, but not all, assets are tested periodically for impairments.   

 
28. Describe how equipment could become impaired for accounting purposes. 
The value of the equipment could have fallen due to decreased demand for the product that the equipment produces.   

 
29.  What is the main attribute of a repair that determines whether or not it will be capitalized or expensed? 
The main attribute is whether or not the repair extends the life of the asset (or increases its efficiency).  If the repair does 
extend the life of the asset (or increase its efficiency), the repair is considered an improvement and is capitalized.  
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30.  A firm spends $1,000 on ordinary repairs and maintenance.   
 
a.  Provide the entry.  (Use SG&A Expense.) 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 1,000   SG&A Expense  - 1,000 SG&A Expense 1,000  
       Cash  1,000 
 
b.   Refer to the above.  Assume the firm had instead deemed the repairs and maintenance to be extraordinary (i.e., an 

improvement).  Provide the entry: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash - 1,000     PP&E  1,000  
PP&E + 1,000      Cash  1,000 
 
31.  What are restructuring expenses or losses? 
Restructuring is a non-GAAP term, but it conventionally includes any of the following types of events and transactions:  exit 
costs, severance, litigation losses, and impairment losses. Exit and severance payments are typically made in order to 
save money in the long run (paying money now to save money later). Litigation losses must be accrued if probable and 
estimable (under U.S. GAAP), and litigation is sometimes involved with exit and severance.  Asset impairments (write 
downs) are also often recognized as part of the overall restructuring process.  

 
32. What is a “cookie jar” reserve? 
It is an over-accrued liability (possibly fraudulently) in an earlier period that is reversed in the current or later period to boost 
a firm’s earnings.  When the liability is established in the earlier period, the offset is to a loss or expense account.  When 
the liability is reversed in the current or later period, the offset is to a gain (or a reversal of the loss or expense).  The gain 
increases net income.  

 
33. Assume that a firm has equipment that costs $400 and has a ten year useful life.  After three years of straight line 

depreciation (and no salvage value), accumulated depreciation is $120. The firm estimates that the fair value of the 
equipment has fallen to $200 and is not likely to recover in value.  Journalize the impairment of the equipment. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Equipment - 80   Impairment loss - 80 Impairment Loss 80  
       Equipment  80 
 
34.  Why is it important for firms to segregate discontinued operations on all three main financial statements? 
Users of financial statements typically want to predict relevant aspects of a firm’s future.  By segregating the accounts that 
will be discontinued, users will understand that those parts of the financial statements will become zero when the segment 
is actually sold. 

 
35.  Describe how discontinued operations affect the three main financial statements. 
Discontinued operations result in reclassifications of revenues, expenses, assets, liabilities, and cash flows.  Revenues 
and expenses, net of tax effects, are combined into a single section on the income statement and are renamed as “Income 
(Loss) from Discontinued Operations.”  Assets and liabilities that are related to the segment to be sold are also combined 
and renamed as “Assets held for Sale” and “Liabilities of Discontinued Operations.”  The cash flows related to the segment 
to be discontinued are re-classified and re-labeled in a similar manner. 
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Chapter 7 Q&A:  Noncurrent Liabilities and Owners’ Equity  
 
Present Value: Concepts, Annuities, Amortizing Loans, Accreting Loans, Interest Only 
Loans, NPV, IRR, CAGR, Effective Annual Interest Rate 
 
1.  Define present value. 
Present value is the value of an item today.  In terms of a loan, it is the amount borrowed today.  In terms of a deposit, it is 
the amount deposited today.   

 
2.  Define interest. 
Interest is the value of time.  It is a fee for borrowing money from another person or firm.  Interest is a function of the amount 
borrowed or loaned (the principal), the rate of interest, and the amount of time elapsed. 

 
3.  Define compound interest. 
Compound interest is interest that is calculated on original principal plus any accrued interest that has been added to the 
principal. 

 
4.  Define annuity. 
An annuity is a series of cash flows, also referred to as payments, that are equal in size and occur in regular intervals of 
time.   

 
5.  Define ordinary annuity. 
An ordinary annuity is an annuity that begins at the end of a compound period.  In other words, the cash flows are deferred 
by one period.  

 
6.  Define annuity due. 
An annuity due is an annuity that begins immediately.  In other words, the cash flows commence “now,” or at the beginning 
of a compound period. 

 
7. Define an amortizing loan. 
An amortizing loan is one in which the periodic payments are large enough to pay both the required periodic interest and 
some of the principal.  Therefore, the loan balance is reduced over the term of the loan. 

 
8.  Define an accreting loan. 
An accreting loan is one in which the periodic payments are not large enough to pay the required periodic interest.  
Therefore, the loan balance increases over the term of the loan. 

 
9.  Define an interest only loan. 
An interest only loan is one in which the periodic payments exactly equal the amount of the periodic interest.  Therefore, 
the loan balance is unchanged over the term of the loan. 

 
10. Define net present value. 
Net present value is the present value of a series of cash flows.  Usually, the “NPV” function in Excel (or a calculator) is 
applied to a series of cash flows that are unequal in size and therefore are not annuities.  However, the NPV function can 
be applied to both annuities and non-annuity cash flow streams.  NPV is also used as a decision rule to determine whether 
a particular investment should be undertaken.  In this circumstance, the initial cash flow is negative (representing the 
purchase price of the investment).   

 



Fundamentals of Financial Accounting and Analysis – Q&A                                                                                    Chapter 7 
 

©Stephen H. Bryan, Ph.D. 61 Q&A  

11.  A firm borrows money from a bank at the beginning of Year 1.  The bank requires the firm to pay both principal and 
interest in two years in the combined amount of $1,000.  The bank charges 6% interest on all loans.  This is an accreting 
loan because no payments are made until the due date in two years. 

a.  Calculate the original amount of the loan.  (Round to the nearest dollar amount.) 
890.  The formula in Excel is:   =PV(6%,2,,-1000). 

 
b.  Complete the accretion table below (or separately in Excel): 

Year Cash 
Payment 

Interest 
6% 

Principal 
Adjustment 

Principal 
Balance 

      890 
 

1 0 53 53 943 
2 0 57 57 1,000 

 

 
c.   Journalize the origination of the loan at the beginning of Year 1, the recognition of interest for Years 1 and 2, and the 

repayment of principal at the end of Year 2. 
 
Origination of Loan at the beginning of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 890 Note Payable + 890   Cash  890  
       Note Payable 890 
 
Recognition of Interest for Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Note Payable + 53 Interest Expense - 53 Interest Expense 53  
       Note Payable 53 
 
Recognition of Interest for Year 2:   

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Note Payable + 57 Interest Expense - 57 Interest Expense 57  
       Note Payable 57 
 
Repayment of Principal at the end of Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 1,000 Note Payable - 1,000   Note Payable 1,000  
       Cash  1,000 
 
12.  A firm borrows money from a bank at the beginning of Year 1.  The bank requires the firm to make two, $1,000 payments 

at the end of each of the next two years (Years 1 and 2).  The bank charges 6% interest on all loans.  Each payment 
will be for part interest and part principal; therefore, the loan is an amortizing loan. 

a.  Calculate the original amount of the loan.  (Round to the nearest dollar amount.) 
1,833.  The formula in Excel is:  =PV(6%,2,-1000). 
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b.  Complete the amortization table below (or separately in Excel): 

Year Cash 
Payment 

Interest 
6% 

Principal 
Adjustment 

Principal 
Balance 

      1,833 
1 1,000 110 890 943 
2 1,000 57 943 0 

 
c.  Journalize the origination of the loan at the beginning of Year 1 and the two payments at the end of Years 1 and 2. 
 
Origination of Loan at the beginning of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 1,833 Note Payable  + 1,833   Cash  1,833  
       Note Payable 1,833 
 
Payment at the end of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 1,000 Note Payable - 890 Interest Expense -110 Interest Expense 110  
      Note Payable 890  
       Cash  1,000 
 
Payment at the end of Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 1,000 Note Payable - 943 Interest Expense - 57 Interest Expense 57  
      Note Payable 943  
       Cash  1,000 
 
13.  A firm borrows money from a bank at the beginning of Year 1.  The terms of the loan require the firm to make payments 

of $400 per year at the end of the next five years (ordinary annuities).  The bank charges interest of 6% per year. 
 
a.  Calculate the amount of the loan. 
1,685.  The formula in Excel is:  =PV(6%,5,-400). 

 
b.  Complete the amortization table below (or separately in Excel):   

Year Cash 
Payment 

Interest 
6% 

Principal 
Adjustment 

Principal 
Balance 

      1,685 
1 400 101 299 1,386 
2 400 83 317 1,069 
3 400 64 336 733 
4 400 44 356 377 
5 400 23 377 0 
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c.  Record the origination of the loan at the beginning of Year 1 and the entries for payment of principal and interest at the 
end of Year 1 and Year 2. 
 
Origination of Loan at the beginning of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 1,685 Note Payable + 1,685   Cash  1,685  
       Note Payable 1,685 
 
Payment at the end of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 400 Note Payable - 299 Interest Expense - 101 Interest Expense 101  
      Note Payable 299  
       Cash  400 
 
Payment at the end of Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 400 Note Payable - 317 Interest Expense - 83 Interest Expense 83  
      Note Payable 317  
       Cash  400 
 

14.  A firm borrows $6,000 from a bank at the beginning of Year 1.  The terms of the loan require the firm to make equal, 
yearly (end-of-year) payments over the next five years.  The bank charges 6% interest. 

 
a.  Calculate the amount of the yearly payment. 
- 1,424.  The formula in Excel is:  =PMT(6%,5,6000) 

 
b.  Complete the amortization table below (or separately in Excel): 

Year Cash 
Payment 

Interest 
6% 

Principal 
Adjustment 

Principal 
Balance 

      6,000 
1 1,424 360 1,064 4,936 
2 1,424 296 1,128 3,807 
3 1,424 228 1,196 2,611 
4 1,424 157 1,268 1,344 
5 1,424 81 1,344 0 

 
c.  Record the origination of the loan at the beginning of Year 1 and the entries for payment of principal and interest at the 
end of Year 1 and Year 2. 
 
Origination of Loan at the beginning of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 6,000 Note Payable + 6,000   Cash  6,000  
       Note Payable 6,000 
 
Payment at the end of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 1,424 Note Payable - 1,064 Interest Expense - 360 Interest Expense 360  
      Note Payable 1,064  
       Cash  1,424 
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Payment at the end of Year 2: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash - 1,424 Note Payable - 1,128 Interest Expense - 296 Interest Expense 296  
      Note Payable 1,128  
       Cash  1,424 
 
15. A bank loans a firm $15,000 at the beginning of Year 1 and requires repayment in the amount of $6,000 per year, at 

the end of each of the next three years.   
 

a.  Calculate the interest rate of the loan. 
9.7010%.  The formula in Excel is:  =RATE(3,-6000,15000). 

 
b.  Complete the amortization table below (or separately in Excel): 

Year Cash 
Payment Interest Principal 

Adjustment 
Principal 
Balance 

  9.7010%  15,000 
1 6,000 1,455 4,545 10,455 
2 6,000 1,014 4,986 5,469 
3 6,000 531 5,469 0 

 
16. A bank loans a firm $100,000 at the beginning of Year 1.  Payments are due at the end of each of the next five years 

(ordinary annuities).  The interest rate is 6%.  The loan is an amortizing loan. 
 
a.  Calculate the amount of the yearly payment.  
- 23,740. The formula in Excel is:  =PMT(6%,5,100000). 

 
b.  Complete the amortization table below (or separately in Excel): 

Year Cash 
Payment 

Interest 
6% 

Principal 
Adjustment 

Principal 
Balance 

      100,000 
1 23,740 6,000 17,740 82,260 
2 23,740 4,936 18,804 63,456 
3 23,740 3,807 19,932 43,524 
4 23,740 2,611 21,128 22,396 
5 23,740 1,344 22,396 0 

  
17. Calculate the present value of a loan that requires a firm to make payments of $5,000 per year for five years, at the end 

of each year.  The interest rate is 6%. 
21,062.  The formula in Excel is:  =PV(6%,5,-5000). 

 
18.  Calculate the present value of a loan that requires a firm to make a single payment of $3,000 in two years.  The interest 

rate is 5%. 
2,721.  The formula in Excel is:  =PV(5%,2,,-3000). 
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19.  Calculate the interest rate of a loan, in which a lender loans a firm $15,000 and requires repayment of a single amount 
of $22,000 in five years.  

7.96%.  The formula in Excel is:  =RATE(5,,15000,-22000). 

 
20. If a firm deposits $1,000 in a bank today, how much will it have in four years if the bank pays 6% per year and if the firm 

makes no withdrawals during the four years? 
In Excel:  =FV(rate, nper, pmt, pv, type) =FV(6%,4,,-1000) = $1,262.48  

 
21. Restate the above problem in terms of a loan from the bank, rather than a deposit to the bank. 

If a firm borrows $1,000 from a bank today, how much will it owe in four years if the bank charges 6% per year and if the 
firm makes no payments during the four years? 

 
22. If a firm deposits $1,000 in the bank at the end of each of the next four years, how much will it have at the end of the 

fourth year if the bank pays 6% per year, and if the firm makes no withdrawals during the four years?  
In Excel:  =FV(rate, nper, pmt, pv, type) =FV(6%,4,-1000) = $4,374.62 

 
23. a.  If a firm deposits $1,000 in the bank at the beginning of each of the next four years, how much will it have at the end 

of the fourth year if the bank pays 6% per year, and if the firm makes no withdrawals during the four years? 
In Excel:  =FV(rate, nper, pmt, pv, type) =FV(6%,4,-1000,0,1) = $4,637.09  

 
       b.  Complete the below accretion table for the above deposits. 

Beginning 
of Year 

Cash 
Payment 

Interest 
6% 

Principal 
Adjustment 

Principal 
Balance 

1 1,000.00  1,000.00 1,000.00 
2 1,000.00 60.00 1,060.00 2,060.00 
3 1,000.00 123.60 1,123.60 3,183.60 
4 1,000.00 191.02 1,191.02 4,374.62 
  262.48 262.48 4,637.09 

 
24. How much would a firm be able to borrow from a bank today, if it will be required to pay back $8,000 to the bank in four 

years, and if the bank charges 6% per year? 
In Excel:  =PV(rate, nper, pmt, fv, type) =PV(6%,4,,-8000) =$6,336.75  

 
25. How much would a firm be able to borrow from a bank today, if it will be required to pay back $8,000 per year, at the 

end of each year for the next four years, and if the bank charges 6% per year? 
In Excel:  =PV(rate, nper, pmt, fv, type) =PV(6%,4,-8000) =$27,720.84 

 
26. A firm has $1,000,000 in its bank account.  The bank pays interest of 6% per year.  How much can the firm withdraw in 

equal amounts each year over the next five years, at the end of each year, and leave a balance of zero? 
In Excel:  =PMT(rate, nper, pv, fv, type) =PMT(6%,5,-1000000,0) =$237,396.40  

 
27. A firm has $1,000,000 in its bank account.  The bank pays interest of 6% per year. The firm withdraws $80,000 per year 

for the next five years, at the end of each year.  What is the balance in the account at the end of the fifth year?  
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In Excel:  =FV(rate, nper, pmt, pv, type) =FV(6%,5,80000,-1000000) =$887,258.14  

 
28. A firm has $1,000,000 in its bank account.  The bank pays interest of 6% per year.  What is the maximum withdrawal 

the firm could make at the end of each of the next five years, without touching the principal? 
In Excel:  =PMT(rate, nper, pv, fv, type) =PMT(6%,5,-1000000,1000000) =$60,000.00  

 
29. A firm has $1,000,000 in its bank account.  If the firm wanted to withdraw $80,000 per year over the next five years, at 

the end of each year, and if it also wanted to have a balance in the account of $1,200,000 at the end of the fifth year, 
what interest rate must it receive at the bank? 

In Excel: =RATE(nper, pmt, pv, fv, type, guess) =RATE(5,80000,-1000000,1200000) =11.20% 

 
30. A firm borrows $700,000 to finance the purchase of a building.  The yearly interest rate is 5.00%.  The firm will make 

monthly payments for thirty years, at the end of each month. This is a fully amortizing loan over the thirty years.  What 
is the amount of the monthly payment? 

In Excel:  =PMT(rate, nper, pv, fv, type) =PMT(5%/12,30*12,700000) = -3,757.8 

 
31. A firm deposits $800 in a bank.  The bank pays a nominal, yearly interest rate of 4% on this deposit.   How much will 

be in the firm’s bank account (assuming no withdrawals or additional deposits) after five years, given the following five 
compounding frequencies?  Also, what are the corresponding effective annual interest rates for each compounding 
frequency? 

Compound Frequency Future Value 
=FV(rate, nper, pmt, pv, type) 

Effective Annual Interest Rate 
=EFFECT(nominal_rate, npery) 

Yearly =FV(4%,5,0,-800) 
= 973.32 

=EFFECT(4%,1) 
=4% 

Semi-annually =FV(4%/2,5*2,0,-800) 
= 975.20 

=EFFECT(4%,2) 
=4.04% 

Quarterly =FV(4%/4,5*4,0,-800) 
= 976.15 

=EFFECT(4%,4) 
=4.06% 

Monthly =FV(4%/12,5*12,0,-800) 
= 976.80 

=EFFECT(4%,12) 
=4.07% 

Daily =FV(4%/365,5*365,0,-800) 
= 977.11 

=EFFECT(4%,365) 
=4.08% 

 
32.  Using an interest rate of 10%, calculate the present value of the following series of cash flows:  $500, $400, $600, 

$900, $1,000.  Use the NPV function in Excel.   
$2,472 =NPV(10%,500,400,600,900,1000) 

 
33. Continuing with the previous problem, assume that the above cash flows represent cash inflows from an investment.  

Also assume that the firm’s required rate of return on all investments is 10%. 
 
a.  If the firm were to pay $3,000 for the investment, what is the net present value (NPV) of the investment? 

- 528 = - 3,000 + 2,472 

 
b.  Refer to a. above.  Would the firm purchase the investment given the cost of the investment, the required rate of 
return, and given the expected cash flows?  Why or why not? 

No, the firm would not purchase the investment because net present value is less than zero. 



Fundamentals of Financial Accounting and Analysis – Q&A                                                                                    Chapter 7 
 

©Stephen H. Bryan, Ph.D. 67 Q&A  

c.  Refer to a. above.  What is the internal rate of return (IRR) of this investment? 
3.74%.  Notice that since the IRR is less than the required rate of return, the firm will not purchase the investment.  This 
confirms the decision made in b., above. 

 
d.  What is the maximum amount the firm would pay for the investment?  Why is this the maximum amount? 

$2,472 is the maximum amount.  This amount makes the NPV equal zero, and it makes the IRR = 10%. 

 
34. What is the compound annual growth rate (CAGR) for the following time series? 

Year Year 5 Year 4 Year 3 Year 2 Year 1 

Amount $100 77 82 70 64 
 
CAGR = (FV / PV) (1 / nper) – 1 = (100 / 64)(1/4) – 1 = 11.8034%, or 
Excel:  =RATE(nper, pmt, pv, fv, type, guess) =RATE(4,0,64,-100) = 11.8034% 

 
Leases 
 
35.  What are the names of the two parties in a lease contract? 
The two parties are the lessor (the owner of the asset being leased) and the lessee (the user of the asset being leased). 

 
36.  What are the main criteria for a lease to be classified as a finance lease under the new lease accounting standards? 
A lease would be classified as a finance lease if the title transfers to the lessee at the end of the lease, or if the lease 
contains a purchase option for the lessee to buy the asset, or if the term of the lease constitutes a major part of the asset’s 
economic life, or if the lease payments (on a present value basis) constitute substantially all of the asset’s fair value. 

 
37. A firm leases a building at the beginning of Year 1.  The lease qualifies as a finance lease.  The lease payments are 

$100 each for two years, at the end of each year.  The appropriate interest rate is 10%.  The leased asset is depreciated 
(amortized) over the two years using straight-line depreciation with no residual value.  
 

a.  Calculate the present value of the lease. 
$174.  The formula in Excel is: =PV(10%,2,-100). 
 

 
b.  Complete the amortization table for the lease liability. 

 

 
c.  Provide the lessee’s entries at the inception of the lease (at the beginning of Year 1), for the payments at the end of Years 

1 and 2, and for the depreciation of the leased asset.   
 
Inception of the Lease at the beginning of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Leased Asset + 174 Lease Liability + 174   Leased Asset 174  
       Lease Liability 174 
 
 

Year Cash 
Payment 

Interest 
10% 

Principal 
Adjustment 

Principal 
Balance 

      174 
1 100 17 83 91 
2 100 9 91 0 
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Lease Payment at the end of Year 1: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash - 100 Lease Liability - 83 Interest Expense - 17 Interest Expense 17  
      Lease Liability 83  
       Cash  100 
 
Depreciation (amortization) of leased asset at the end of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
A/D - 87   Depreciation expense - 87 Depreciation expense 87  
       A/D  87 
 
Lease Payment at the end of Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 100 Lease Liability - 91 Interest Expense - 9 Interest Expense 9  
      Lease Liability 91  
       Cash  100 
 
Depreciation of leased asset at the end of Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
A/D - 87   Depreciation expense - 87 Depreciation expense 87  
       A/D  87 
 
38.  Refer to the above problem.  Assume that the lease is an operating lease, and assume the accounting standards 

require capitalization of operating leases.  Provide the lessee’s entries at the inception of the lease and at the end of 
Year 1 and Year 2 (for the amortization of the liability and amortization of the leased asset). 
 

Inception of the lease at the beginning of Year 1: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Leased Asset + 174 Lease Liability + 174   Leased Asset 174  
       Lease Liability 174 
 
Lease payment and depreciation (amortization) of asset at the end of Year 1 (note: total expense provided for informational 
purposes): 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 100 Lease Liability - 83 Le ase  Ex pe nse 

 
- 17 Lease Expense 

 
 17  

      Lease liability  83  
       Cash  100 
A/D - 83     L e a s e  E x p e n s e 

 
- 83 Lease Expense 

 
 83  

       A/D  83 
Total Expense = - 100    
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Lease payment and amortization of asset at the end of Year 2 (note: total expense provided for informational purposes): 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash - 100 Lease Liability - 91 Le ase  Ex pe nse 
 

- 9 Lease Expense 
 
 9  

      Lease Liability  91  
       Cash  100 
A/D - 91     L e a s e  E x p e n s e 

 
- 91 Lease Expense 

 
 91  

       A/D  91 
Total Expense = - 100    

 
39.   Refer to the above two problems (where the leases were classified as a finance lease and operating lease, 

respectively).  Fill in the below table to illustrate the allocation of total expenses across the lease term for both types of 
leases. 

 

Operating Lease (Lessee) 
Expenses are combined as one expense: 

Rent Expense in EBIT.) 

Finance Lease (Lessee) 
(Expenses are shown separately--Amortization 

Expense in EBIT; Interest expense below 
EBIT.) 

Year Interest on 
Liability 

Depreciation 
of Asset Total Interest on 

Liability 
Depreciation 

of Asset Total 

1 17 83 100 17 87 104 
2 9 91 100 9 87 96 

Total   200   200 
 
40.   Describe the difference over time of expense recognition between the two types of leases. 

Total expense for finance leases is “front-end” loaded, meaning that more total expense is recognized early in the life of 
the lease, and less total expense is recognized later.  Total lease expense for operating leases is the same each year.  

 
Bonds 
 
41.  What are alternative terms that are synonymous with “market rate” of interest on a bond? 
Synonymous terms (phrases) are yield to maturity and required rate of return. 

 
42.  What are alternative terms that are synonymous with “stated rate” of interest on a bond? 
Synonymous terms are coupon rate and nominal rate. 

 
43.  What are alternative terms that are synonymous with a bond’s “par value”? 
Synonymous terms are future value and face value. 

 
44.  Under what circumstances are bonds issued at a discount?  At a premium?  At par? 
If the stated rate is greater than (less than) the market rate, the bond is issued at a premium (discount).  If the stated and 
market rates are the same, the bond is issued at par. 
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45.  For a bond issued at a premium, at a discount, and at par, show the relationship between the stated and market rates 
of interest by writing <, = , or >. 

   <, =, >   

Premium Stated Rate > Market Rate 

Discount Stated Rate < Market Rate 

Par Stated Rate = Market Rate 
 

46.  Are firms allowed to apply fair value accounting to their own debt? 
Yes; firms have an irrevocable option to mark-to-market their own debt, called the “fair value option.” 

 
47.  Assume a firm issues, at the beginning of Year 1, a bond with a face value of $1,000.  The stated rate of interest is 4%.  

The market rate of interest is 7%.  The maturity is in 2 years.  Interest is paid yearly. 
 
a.  Calculate the issue price of the bond. 
946.  The formula in Excel is:  =PV(7%,2,-40,-1000) 

 
b.  Complete the bond accretion table below (or separately in Excel):  

Year Cash 
Payment 

Interest 
7% 

Principal 
Adjustment 

Principal 
Balance 

      946 
1 40 66 26 972 
2 40 68 28 1,000 

 
c.  Journalize the bond issue at the beginning of Year 1, the two coupon payments at the end of Years 1 and 2, and the 
repayment of the principal, also at the end of Year 2. 
 
Issue of Bond at the beginning of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 946 Bond Payable + 946   Cash  946  
       Bond Payable 946 
 
Coupon Payment at the end of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 40 Bond Payable + 26 Interest Expense - 66 Interest Expense 66  
       Bond Payable 26 
       Cash  40 
 
Coupon Payment at the end of Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 40 Bond Payable + 28 Interest Expense - 68 Interest Expense 68  
       Bond Payable 28 
       Cash  40 
 
Repayment of Principal at the end of Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 1,000 Bond Payable - 1,000   Bond Payable 1,000  
       Cash  1,000 
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48.  Assume a firm issues, at the beginning of Year 1, a bond with a face value of $1,000.  The stated rate of interest is 7%. 
The market rate of interest is 4%.  The maturity is in 2 years.  Interest is paid yearly. 
 

a.  Calculate the issue price of the bond. 
1,057.  The formula in Excel is:  =PV(4%,2,-70,-1000) 

 
b.  Complete the bond amortization table below (or separately in Excel): 

Year Cash 
Payment 

Interest 
4% 

Principal 
Adjustment 

Principal 
Balance 

      1,057 
1 70 42 28 1,029 
2 70 41 29 1,000 

 
c.  Journalize the bond issue at the beginning of Year 1, the two coupon payments at the end of Years 1 and 2, and the 
repayment of the principal, also at the end of Year 2. 
 
Issue of Bond at the beginning of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 1,057 Bond Payable + 1,057   Cash  1,057  
       Bond Payable 1,057 
 
Coupon Payment at the end of Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 70 Bond Payable - 28 Interest Expense - 42 Interest Expense 42  
      Bond Payable 28  
       Cash  70 
 
Coupon Payment at the end of Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 70 Bond Payable - 29 Interest Expense - 41 Interest Expense 41  
      Bond Payable 29  
       Cash  70 
 
Repayment of Principal at the end of Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 1,000 Bond Payable - 1,000   Bond Payable 1,000  
       Cash  1,000 
 
49.  A firm issues a $5,000 par value bond with a five year maturity and a 6% coupon.  The market rate of interest is also 

6%, so the bond is issued at par.  [The formula in Excel is:  = PV(6%,5,-6%*5000,-5000)].  After one year, the market 
interest rate rises to 8% due to firm specific credit risk. 

 
a.  Calculate the new value of the bond using the new interest rate and four years remaining until maturity. 
4,669; In Excel, the formula is:  =PV(8%,4,-6%*5000,-5000) 
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b.  Provide the entry the bond issuer would make, if it exercises the fair value option: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

  Bond Payable - 331 AOCI* + 331 Bond Payable 331  
       AOCI  331 
*Accumulated Other Comprehensive Income 
 
c.  Provide the entry the bond investor would make if the investor classifies the bond as a trading security. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Investment - 331   Loss - 331 Loss  331  
       Investment  331 
 
d.  Provide the entry the bond investor would make if the investor classifies the bond as an available-for-sale security. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Investment - 331   AOCI - 331 AOCI  331  
       Investment  331 
 
e.  Provide the entry the bond investor would make if the investor classifies the bond as a held-to-maturity security. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
No entry      No entry    
          

 
50.  Repeat the above problem, assuming that the market rate of interest falls to 4%, rather than rises to 8%, after one year. 
 
a.  Calculate the new value of the bond with the new interest rate and four years remaining until maturity. 
5,363; In Excel, the formula is:  =PV(4%,4,-6%*5000,-5000). 

 
b.  Provide the entry the bond issuer would make, under current accounting rules, if it exercises the fair value option: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Bond Payable + 363 AOCI - 363 AOCI  363  
       Bond Payable 363 
 
c.  Provide the entry the bond investor would make if the investor classifies the bond as a trading security. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Investment + 363   Gain + 363 Investment  363  
       Gain  363 
 
d.  Provide the entry the bond investor would make if the investor classifies the bond as an available-for-sale security. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Investment + 363   AOCI + 363 Investment  363  
       AOCI  363 
 
e.  Provide the entry the bond investor would make if the investor classifies the bond as a held-to-maturity security. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
No entry      No entry    
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Owners’ Equity:  Common and Preferred Stock; Dividends, Splits, Treasury Stock 
 
51.  Name two preferences that preferred stock has over common stock. 
Preferred stock has a dividend preference and a liquidation preference.  Both refer to the fact that preferred stockholders 
are paid before common stockholders (in the case of dividend payments and in the case of bankruptcy). 

 
52.  Name two reasons why a firm would buy back its own stock. 
Firms may feel their own stock is undervalued in the market.  Share repurchases can also boost earnings per share. 

 
53.  What does APIC stand for?  Give an example of when the account is used. 
APIC stands for Additional Paid in Capital.  It is used when stock is issued at a value greater than par. 

 
54. What is a stock dividend, and what is the difference in the accounting treatments for large versus small stock dividends? 
A stock dividend is an issuance of shares of stock to existing shareholders.  A large stock dividend reduces retained 
earnings by the total par value of the dividend.  A small stock dividend reduces retained earnings by the total market value 
of the dividend.  

 
55. What is a stock split, and how does a stock split contrast with a stock dividend? 
A stock split is an exchange of shares with existing shareholders.  Shareholders swap their current shares for more (or 
possibly fewer) shares of stock in the firm.  A stock split results in a change in the par value per share of the stock, whereas 
a stock dividend does not.  Stock dividends are journalized, but stock splits are not. 

 
56.  Assume a firm declares a total cash dividend of $50.  Payment will be made at a later date. 
 
a.  Give the journal entry on the declaration date.   

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Dividend Payable + 50 Retained Earnings -50 Retained Earnings 50  
       Dividend Payable 50 
 
b.  Provide the entry on the payment date. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 50 Dividend Payable - 50   Dividend Payable 50  
       Cash  50 
 
c.   Assume that the above firm has twenty shares of preferred stock outstanding, each with a $5 par value.  The preferred 

stock's dividend rate is 6%.  Calculate the amount of the $50 dividend that will be allocated to both preferred and common 
stockholders. 

Class of Stock Amount of Dividend 
Preferred  $6 (6% *$5 * 20 shares) 
Common  $44 ($50 – 6) 

 
57.  Journalize the following transactions. 

a.  A firm issues ten shares of $3 par value common stock for $20 per share.   
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Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 200   Stock + 30 Cash  200  
    APIC + 170  Stock  30 
       APIC  170 
 
b.  The firm buys back two shares for $30 per share.  (Use Treasury Stock.) 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 60   Treasury Stock - 60 Treasury Stock 60  
       Cash  60 
 
c.  The firm sells one of the treasury shares for $50 per share.  

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 50   Treasury Stock + 30 Cash  50  
    APIC + 20  Treasury Stock 30 
       APIC  20 
 
d.  The firm sells the other treasury share for $25 per share. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 25   Treasury Stock + 30 Cash  25  
    APIC - 5 APIC  5  
       Treasury Stock 30 
 
58. A firm has 500 shares of common stock issued and outstanding.  The par value of the stock is $1 per share.  The market 

value per share of the stock is $80.   
 
a.  Assume the firm issues a 10% stock dividend.  Provide the journal entry, if one is required. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
    Retained Earnings - 4,000 Retained Earnings 4,000  
    Stock + 50  Stock  50 
    APIC +3,950  APIC 3,950 
 
b.  After the above 10% dividend, assume the firm issues a 40% stock dividend.  Provide the journal entry, if one is required. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
    Retained Earnings - 220 Retained Earnings 220  
    Stock + 220  Stock  220 
 
c.  After both dividends above, assume the firm issues a 2 for 1 stock split.  Provide the journal entry, if one is required. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
No Entry         
         
 
d.  After the respective transactions in a-c, above, what is the par value per share, the total number of shares outstanding, 

and the total par value? 

   
Par Value 
Per Share 

Total Shares 
Outstanding 

Total 
Par Value 

a. 10% dividend $1.00 550 $550 
b. 40% dividend $1.00 770 $770 
c. 2 for 1 split $0.50 1,540 $770 
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Stock Compensation:  Stock Options and Restricted Stock 
 
59.  What does the phrase “at-the-money” mean with regard to stock options? 
At-the-money means that the strike price of the option is equal to the market price of the stock.  Most stock options are 
granted at-the-money.   

  
60. Define a stock option’s “intrinsic value.” 
Intrinsic value is the difference between the market value of the stock and strike price, which is the amount the option holder 
would have to pay for the stock.   

 
61.  What are two reasons why stock options usually have zero intrinsic value to their recipients when they are granted?    
1.  Stock options are issued “at-the-money,” meaning that the option holder would have to pay an amount that is the same 
as the value of the stock.  2.  The option holder cannot exercise the options until they vest, which is typically about three 
years. 

 
62.  How was the problem of assigning an ex ante stock option value, for purposes of measuring compensation expense, 

resolved, since the intrinsic value of the stock option is zero (on the grant date)? 
The Black-Scholes model estimates an option’s value on the grant date. 

 
63.  How is the value of compensation expense determined for restricted stock? 
The market value of the stock itself is used to determine compensation expense.  

 
64.  At the beginning of the year, a firm awards one stock option to its only employee.  The option is awarded at-the-money 

when the stock is trading at $14 per share. The Black-Scholes value of the option is $6.  The option vests after two 
years.  Upon vesting, the stock is trading at $20 per share and the employee exercises the option.  The par value of the 
firm's stock is $1 per share. 

 
a.  Journalize the option on the grant date. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
No entry      No entry    
          
 
b.  Journalize compensation expense for both years of the vesting period.  Use SG&A Expense. 
 
Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
    SG&A Expense - 3 SG&A Expense 3  
    APIC + 3  APIC  3 
 
Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
    SG&A Expense - 3 SG&A Expense 3  
    APIC + 3  APIC  3 
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c.  Journalize the exercise of the option. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash + 14   Stock + 1 Cash  14  
    APIC + 13  Stock  1 
       APIC  13 
 
65.  At the beginning of the year, a firm awards one share of restricted stock to its only employee.  The restricted share is 

awarded when the stock is trading at $14 per share. The share vests after two years.  Upon vesting the stock is trading 
at $20 per share.  The par value of the firm's stock is $1 per share. 

 
a.  Journalize the award of the restricted stock. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
No entry      No entry    
          
 
b.  Journalize compensation expense for both years of the vesting period.  Use SG&A Expense. 
 
Year 1: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
    SG&A Expense - 7 SG&A Expense 7  
    APIC + 7  APIC  7 
 
Year 2: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
    SG&A Expense - 7 SG&A Expense 7  
    APIC  + 7  APIC  7 
 
c.  Provide the entry the firm would make when the restrictions lapse, at the end of the vesting period. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
    APIC - 1 APIC  1  
    Stock + 1  Stock  1 
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Chapter 8 Q&A:  Statement of Cash Flows Revisited  
 
Conceptual Issues; Identification of Cash Flows 
 
1.  What is a major purpose of the cash flow statement? 
A major purpose of the cash flow statement is to show the source of cash over of a fiscal period, and to show how 
management deployed it.  Such information is another way to gauge management’s stewardship role over the firm.  The 
information also is useful for determining where a firm is in its life cycle. 

 
2.   Why are firms required to give accrual-based statements (income statements and balance sheets), as well as cash flow 

statements? 
The cash flow statement provides information about past cash flows.  The accrual statements (income statement and 
balance sheets) provide additional information about future cash flows.  

 
3.   Name the cash flow categories (operating, investing, or financing) associated with each of the below balance sheet 

accounts.   
Bonds Payable Financing 
Property, Plant, and Equipment Investing 
Stock and APIC Financing 
Long term Investments Investing 
Accounts Payable Operating 
Intangibles Investing 
Deferred Revenue Operating 
Short term and Long term Debt  Financing 
Accounts Receivable Operating 

 
4.   What is the formula for calculating operating cash flow using the indirect method? 
Operating cash flow = Net Income + Depreciation + Losses – Gains – Changes in Assets related to Operating Cash Flows 
+ Changes in Liabilities related to Operating Cash Flows 

 
5.   Why are gains subtracted and losses added to net income using the indirect method? 
Neither gains nor losses are related to operations (rather they are peripheral to operations), nor do they equal the amount 
of cash in the related transaction. 

 
6.   Why are increases in PP&E assumed to be cash outflows? 
The assumption is that the firm spent cash (capex) to acquire PP&E. 

 
7.  Why are increases in notes payable assumed to be cash inflows? 
The assumption is that the offset to the increase in notes payable is an increase in cash.  In other words, the firm borrowed 
cash from a bank or other lender.  

 
8.  Why are increases in stock and APIC assumed to be cash inflows? 
The assumption is that the offset to the increases in stock and APIC is an increase in cash.  In other words, the firm issued 
stock to raise cash. 
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9.  Label the below cash flows (under U.S. GAAP) as operating, investing, or financing.  
a.  Cash received from customers.  Operating 

b.  Cash paid to suppliers of inventory. Operating 

c.  Cash paid for a building. Investing 

d.  Cash received from stockholders upon the sale of the firm's stock. Financing 

e.  Cash paid to stockholders in the form of a dividend.  Financing 

f.   Cash paid to stockholders to buy back their stock. Financing 

g.  Cash received from the sale of a building. Investing 

h.  Cash received from a bank as a loan. Financing 

i.  Cash paid to employees as salaries and wages.  Operating 

j.  Cash paid to the utility company for electricity.  Operating 

k.  Cash paid to the government for taxes. Operating 

l.  Cash paid to the bank as interest on a loan.  Operating 

m.  Cash paid to the bank as principal repayment. Financing 

n.  Cash received as interest on an investment in a bond. Operating 

o.  Cash received as a dividend on an investment in stock. Operating 
 
Direct Method: Practice Finding Individual Cash Flows; Transaction Analysis 
 
10.  A firm's beginning and ending balances for accounts receivable are $100 and 120, respectively.  Credit sales were 

$180.  Assuming no other activity in the receivables account, calculate the amount of cash collected.  Both the equation 
and the T-account are provided.   
 

Accounts Receivable    
Beginning Credit Sales Cash Ending 

100 + 180 - 160 120 
 

Accounts Receivable 
100  
180 160 

  
120  

 
11.  A firm's beginning and ending balances for accrued expenses (such as wages and salaries payable) are $50 and $40, 

respectively.  SG&A Expense was $20.  Calculate the amount of cash paid for these expenses.  Both the equation and 
the T-account are provided.  
 

Accrued Expenses (Payables)    
Beginning Expense Cash Ending 

50 + 20 - 30 40 
 

Accrued Expenses 
 50 

30 20 
  
  
 40 
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12. A firm's beginning and ending balances in retained earnings are $80 and $90, respectively.  Net Income was $50.  
Assuming no other activity in retained earnings, calculate the amount of dividends declared.  Both the equation and 
the T-account are provided.   

 
Retained Earnings    

Beginning Net Income Dividends Ending 
80 + 50 - 40 90 

 
 

 
13.  A firm’s beginning and ending balances in inventory are $10 and $12, respectively.  Cost of goods sold was $20.  

Calculate the amount of inventory purchased.  Both the equation and the T-account are provided.  
  

Inventory    
Beginning Purchases COGS Ending 

10 + 22 - 20 12 
 

Inventory 
10  
22 20 

  
  

12  
 
14.  Refer to the previous problem.  Assume that the same firm has beginning and ending balances in accounts payable of 

$15 and $11, respectively.  Also assume that all purchases of inventory are credit purchases and therefore increase 
accounts payable.  Calculate the amount of cash subsequently paid to suppliers of inventory.  Both the equation and 
the T-account are provided.   
 
Accounts Payable    

Beginning Purchases Cash Paid Ending 
15 + 22 - 26 11 

 
Accounts Payable 

 15 
26 22 

  
  
 11 

 
15.  Recreate the transaction of a sale of equipment that resulted in a gain of $10.  The equipment’s original cost was $80, 

and, on the date of the sale, the equipment’s book value was $60.  
Assets Liabilities Owners' Equity Debit Credit $ $ 

PP&E - 80   Gain + 10 Cash  70  
A/D + 20     A/D  20  
Cash + 70      PP&E  80 
       Gain  10 

Retained Earnings 
 80 

40 50 
  
  
 90 
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16. Recreate the transaction of a sale of equipment that resulted in a loss of $10.  The equipment’s original cost was $80, 
and, on the date of the sale, the equipment’s book value was $60. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
PP&E - 80   Loss - 10 Cash  50  
A/D + 20     A/D  20  
Cash + 50     Loss  10  
       PP&E  80 

 
17.   What does EBITDA stand for, and what does it proxy for?  What are the reasons why the proxy is not a perfect 

substitute? 
EBITDA stands for Earnings before Interest Taxes Depreciation and Amortization.  It is considered a proxy for operating 
cash flow.  It is a rough proxy because operating cash flow (in the U.S.) includes interest and taxes (and EBITDA, by 
definition, does not), and EBITDA does not include the effect of the changes in working capital accounts (accruals) such 
as changes in accounts receivable and accounts payable.  

 
Direct and Indirect Methods:  Practice Problems 
 
18.   Consider the following consecutive balance sheets and income statement for a firm.  In the space provided, derive 

the statement of cash flows, using the indirect method for operating cash flows. 
 Balance Sheet Year 1 Year 2 Income Statement for Year 2 
Cash 9 11 Revenues (all on credit) 20 
Accounts Receivable 10 15 SG&A Expense -14 
PP&E 4 10 Depreciation Expense -1 
Accumulated Depreciation -1 -2 Tax Expense -2 
Total Assets 22 34 Net Income 3 
Accounts Payable 10 16 Dividends (declared and paid) 2 
Stock 5 10   
Retained Earnings 7 8   
Total Liabilities & Owners’ Equity 22 34   

 
Statement of Cash Flows for Year 2 

Net Income 3 
Depreciation Expense +1 
Increase in Accounts Receivable - 5 
Increase in Accounts Payable + 6 
Operating Cash Flow + 5 
    
Investing Cash Flow   
Purchase of PP&E  - 6 
    
Issuance of stock + 5 
Dividends paid - 2 
Financing Cash Flow   + 3 
    
Total change in cash + 2 
Beginning cash balance 9 
Ending cash balance  11 
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19. Refer to the previous problem.  Calculate operating cash flow using the direct method.  Also, in the space provided, 
show the calculation. 

Cash Flow Amount Explanation/Calculation 

Cash received from customers 15 Accounts Receivable:  Begin + Credit Sales – Cash Collections = End 
         10 + 20 – x = 15;  x = 15 inflow, so “+” 

Cash paid to suppliers of various 
services  
   

- 8 Since there is no inventory, the suppliers supplied various services. 
Accounts Payable:  Begin + Accrued Expense – Cash Payments = End:  
10 + 14 – x = 16; x = 8 outflow, so “-“ 

Cash paid for taxes - 2 Tax expense must equal taxes paid because there is no tax payable on 
the balance sheet. 

Operating Cash Flow + 5 This is the sum of the above, and also the same result as the indirect 
method in the previous problem. 

 
20.  Consider the following consecutive balance sheets and income statement for a firm.  In the space provided, derive the 

statement of cash flows, using the indirect method for operating cash flows. 
 

 Balance Sheet Year 1 Year 2 Income Statement for Year 2 
Cash 10 9 Revenues (all on credit) 20 
Accounts Receivable 15 10 SG&A Expense -14 
PP&E 4 10 Depreciation Expense -3 
Accumulated Depreciation -1 -4 Tax Expense -1 
Total Assets 28 25 Net Income 2 
Accounts Payable 16 10 Dividends (declared and paid) 4 
Stock 5 10   
Retained Earnings 7 5   
Total Liabilities & Owner’s Equity 28 25   

 
Statement of Cash Flows for Year 2 

Net Income 2 
Depreciation Expense + 3 
Decrease in Accounts Receivable + 5 
Decrease in Accounts Payable - 6 
Total Operating Cash Flow + 4 
    
Investing Cash Flow   
Purchase of PP&E - 6 
    
Issuance of stock  + 5 
Dividends paid - 4 
Total Financing Cash Flow + 1 
    
Total change in cash -1 
Beginning cash balance 10 
Ending cash balance 9 
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21.  Refer to the previous problem.  Calculate operating cash flow using the direct method.  Also, in the space provided, 
show any calculations. 

Cash Flow Amount Explanation/Calculation 
Cash received from customers 25 

 
Accounts Receivable:  Begin + Credit Sales – Cash Collections = End 
         15 + 20 – x = 10;  x = 25 inflow, so “+” 

Cash paid to suppliers of various 
services 

- 20 Since there is no inventory, the suppliers supplied various services.  
Accounts Payable:  Begin + Accrued Expense – Cash Payments = End:  
16 + 14 – x = 10; x = 20 outflow, so “-“ 

Cash paid for taxes - 1 Tax expense equals taxes paid because there is no tax payable on the 
balance sheet. 

Operating Cash Flow + 4 This is the sum of the above, and also the same result as the indirect 
method in the previous problem. 
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Indirect Method:  More Practice Problems 
 
22.  Given the below income statement and consecutive balance sheets, complete the cash flow statement in the space 

provided.   
Income Statement for Year 2 

Revenues 180 

Cost of Goods Sold -90 

Depreciation Expense -10 

Interest Expense -10 

Income before Tax 70 

Tax Expense -28 

Net Income 42 

Dividends 0 
 

Balance Sheet Year 1 Year 2 Change  Statement of Cash Flows for Year 2 

Cash 58 80 + 22 
 

Net Income 42 

Accounts Receivable 32 50 + 18 
 

Depreciation Expense + 10 

Inventory 35 50 + 15 
 

Increase in Accounts Receivable -18 

Investment (Available for Sale) 20 12 - 8 
 

Increase in Inventory -15 

Property, Plant, and Equipment 130 150 + 20 
 

Increase in Accounts Payable + 8 

Accumulated Deprecation -50 -60 - 10 
 

Decrease in Tax Payable - 7 

Total Assets 225 282 + 57 
 

Operating Cash Flow + 20 

        
 

    

Accounts Payable 30 38 + 8 
 

Sale of Investment + 8 

Tax Payable 15 8 - 7 
 

Purchase of PP&E - 20 

Notes Payable 100 120 + 20 
 

Investing Cash Flow - 12 

Stock 40 40 0 
 

    

Retained Earnings 40 82 + 42 
 

Issue of Notes Payable + 20 

Treasury Stock 0 -6 - 6 
 

Repurchase of Stock - 6 

Total Liabilities & Owners' Equity 225 282 + 57 
 

Financing Cash Flow + 14 
      

    
      

Total Change in Cash + 22 
      

Beginning Cash 58 
      

Ending Cash 80 
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23.  Given the below income statement and consecutive balance sheets, calculate the amount of the dividend, and then 
complete the cash flow statement in the space provided.   

Income Statement for Year 2 

Revenues 180 

Cost of Goods Sold - 90 

Depreciation Expense - 10 

Interest Expense - 10 

Income before Tax 70 

Tax Expense - 28 

Net Income 42 

Dividends (declared and paid)  6 
 

Balance Sheet Year 1 Year 2 Change 
 

Statement of Cash Flows for Year 2 
Cash 58 74 + 16 

 
Net Income 42 

Accounts Receivable 32 50 + 18 
 

Depreciation Expense + 10 
Inventory 35 50 + 15 

 
Increase in Accounts Receivable - 18 

Investment (Available for Sale) 20 12 - 8 
 

Increase in Inventory - 15 
Property, Plant and Equipment 130 150 + 20 

 
Increase in Accounts Payable + 8 

Accumulated Depreciation -50 -60 - 10 
 

Decrease in Tax Payable - 7 
Total Assets 225 276 + 51 

 
Operating Cash Flow + 20 

        
 

    
Accounts Payable 30 38 + 8 

 
Sale of Investment + 8 

Tax Payable 15 8 - 7 
 

Purchase of PP&E - 20 
Notes Payable 100 120 + 20 

 
Investing Cash Flow - 12 

Stock 40 40 0 
 

    
Retained Earnings 40 76 + 36 

 
Issue of Notes Payable + 20 

Treasury Stock 0 -6 - 6 
 

Repurchase of Stock - 6 
Total Liabilities & Owners' Equity 225 276 + 51 

 
Dividends - 6       
Financing Cash Flow + 8       
          
Total Change in Cash + 16       
Beginning Cash 58       
Ending Cash 74 

 
 
 
24.  Perform a transaction analysis to determine the amount of cash received in the sale of an investment that cost $8.  The 

sale resulted in a gain of $5, as reported on the income statement below. 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash + 13   Gain + 5 Cash  13  
Investment - 8      Investment  8 
       Gain  5 
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Complete the cash flow statement below, incorporating the information about the sale of the investment above. 
Income Statement for Year 2 

Revenues   180 
Cost of Goods Sold - 90 
Depreciation Expense - 10 
Interest Expense   - 10 
Gain   + 5 
Income before Tax 75 
Tax Expense - 30 
Net Income   45 
Dividends (declared and paid)  6 

 
Balance Sheet Year 1 Year 2 Change  Statement of Cash Flows for Year 2 

Cash   58 77 + 19 
 

Net Income     45 
Accounts Receivable 32 50 + 18 

 
Depreciation Expense   + 10 

Inventory   35 50 + 15 
 

Gain     - 5 
Investment   20 12 - 8 

 
Increase in Accounts Receivable - 18 

Property, Plant, and Equipment 130 150 + 20 
 

Increase in Inventory   - 15 
Accumulated Depreciation -50 -60 - 10 

 
Increase in Accounts Payable + 8 

Total Assets   225 279 + 54 
 

Decrease in Tax Payable   - 7 
          

 
Operating Cash Flow + 18 

Accounts Payable   30 38 + 8 
 

        
Tax Payable 15 8 - 7 

 
Sale of Investment   + 13 

Notes Payable   100 120 + 20 
 

Purchase of PP&E   - 20 
Stock   40 40 0 

 
Investing Cash Flow   - 7 

Retained Earnings 40 79 + 39 
 

        
Treasury Stock    0 -6 - 6 

 
Issue of Notes Payable + 20 

Total Liabilities & Owners' Equity 225 279 + 54 
 

Repurchase of Stock   - 6       
Dividends     - 6       
Financing Cash Flow + 8       
  

  
        

Total Change in Cash   + 19       
Beginning Cash   58       
Ending Cash   77 

 
 
 
 

25.  Perform a transaction analysis to determine the amount of cash received in a sale of an investment that cost $8.  The 
sale resulted in a loss of $5, as reported on the income statement below. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash + 3   Loss - 5 Cash  3  
Investment - 8     Loss  5  
       Investment  8 
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Complete the cash flow statement below, incorporating the information about the sale of the investment above. 
 

Income Statement for Year 2 
Revenues   180 
Cost of Goods Sold - 90 
Depreciation Expense - 10 
Interest Expense   - 10 
Loss   - 5 
Income before Tax 65 
Tax Expense - 26 
Net Income   39 
Dividends (declared and paid)  6 

 
Balance Sheet Year 1 Year 2 Change  Statement of Cash Flows for Year 2 

Cash   58 71 + 13 
 

Net Income 39 
Accounts Receivable 32 50 + 18 

 
Depreciation Expense + 10 

Inventory   35 50 + 15 
 

Loss + 5 
Investment   20 12 - 8 

 
Increase in Accounts Receivable - 18 

Property, Plant, and Equipment 130 150 + 20 
 

Increase in Inventory - 15 
Accumulated Depreciation -50 -60 - 10 

 
Increase in Accounts Payable + 8 

Total Assets   225 273 + 48 
 

Decrease in Tax Payable  - 7 
          

 
Operating Cash Flow + 22 

Accounts Payable   30 38 + 8 
  

  
Tax Payable 15 8 - 7 

 
Sale of Investment + 3 

Notes Payable   100 120 + 20 
 

Purchase of PP&E - 20 
Stock   40 40 0 

 
Investing Cash Flow - 17 

Retained Earnings 40 73 + 33 
  

  
Treasury Stock   0 -6 - 6 

 
Issue of Notes Payable + 20 

Total Liabilities & Owner's Equity 225 273 + 48 
 

Repurchase of Stock - 6       
Dividends  - 6       
Financing Cash Flow + 8        

        
Total Change in Cash  + 13       
Beginning Cash 58       
Ending Cash  71 
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Chapter 9 Q&A:  Special Topics  
 
Income Taxes:  Conceptual Issues; Permanent and Temporary Differences 
 
1.  What are the names of the two major tax rates? 
The two main rates are the statutory tax rate and effective tax rate. 

 
2.   Define permanent differences between the income statement and tax return, and describe the effects of permanent 

differences.   
Permanent differences are revenues and expenses that appear on either the income statement or tax return, but not both, 
neither in the current period, nor in a future period.  The effect of a permanent difference is to make the effective tax rate 
not equal to the statutory rate.  However, permanent differences do not create deferred tax asset and liabilities.  

 
3.   Define temporary differences between the income statement and tax return, and describe the effects of temporary 

differences.   
Temporary differences are revenues and expenses that appear on both the income statement and the tax return, but not 
in the same fiscal periods.  The effect of a temporary difference is the recognition (or reversal) of a deferred tax asset or 
deferred tax liability.  However, temporary differences do not affect the effective tax rate. 

 
4.  Give an example of a permanent difference that makes the effective tax rate lower than the statutory tax rate. 
Tax free interest income is an example of a permanent difference that makes the effective tax rate lower than the statutory 
tax rate. 

 
5.  Give an example of a permanent difference that makes the effective tax rate higher than the statutory tax rate. 
Nondeductible fines or nondeductible impairment losses are examples that make the effective tax rate higher than the 
statutory rate. 

 
6.  Give an example of a temporary difference that gives rise to a deferred tax asset. 
Restructuring expenses that are deductible in a future period would create deferred tax assets.  

 
7.  Give an example of a temporary difference that gives rise to a deferred tax liability. 
Accelerated depreciation on the tax return compared to a slower depreciation on the income statement gives rise to 
deferred tax liabilities.  

 
8.   Describe how a deferred tax liability that arises from differences between depreciation on the income statement and on 

the tax return could theoretically never be paid. 
If the firm continues to add more depreciable assets, the tax shield that arises from accelerated depreciation on newly 
acquired assets could be greater than the reversal of the tax shield from assets put in place in prior periods.  However, this 
is unlikely to continue forever. 

 
9.  Why are deferred tax assets and liabilities not recorded on the balance sheet at their respective present values? 
To use present value, the firm must know the number of periods and an interest rate, neither of which are known with 
respect to taxes. 

 
10.  Describe how net operating losses give rise to deferred tax assets. 
Firms are allowed to carryforward net operating losses and use these losses as future deductions against future taxable 
income.   Future deductions represent deferred tax assets. 
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11. What is a deferred tax asset valuation allowance, and when is it used? 
A valuation allowance for deferred tax assets represents the amount of the asset that is unlikely to be used as a future 
deduction.   Firms must write-down the deferred tax asset by the amount that is “more likely than not” not going to be used 
as a deduction.  In the journal entry, the amount of the write-down, which is recognized in the “valuation allowance” account 
(a contra-account), is offset with tax expense.   

 
12.  A firm reports the following pre-tax income, tax expense, and net income. 

Pre-Tax Income 150 

Tax Expense - 40 

Net Income 110 
 
Calculate the effective tax rate. 

27% = 40 / 150 

 
13.   True or False:  Tax free municipal bond interest will result in a firm's effective tax rate being higher than the statutory 

tax rate.  
False.  Tax free interest will reduce the effective tax rate below the statutory rate. 

 
14.  Assume a firm has the following income statement and tax return for the current period, the firm’s first year of 

operations.  Complete both the income statement and the tax return, and provide the entry to recognize tax expense.  
Assume that taxes owed are immediately paid. 
 

  
  

Income 
Statement Tax Return Difference: 

None 
Revenues 400 400  

Cost of Goods Sold - 150 - 150  

SG&A Expense - 50 - 50  

Depreciation Expense - 20 - 20  

Interest Income  + 20 + 20  

Pre-Tax Income 200    

Taxable Income   200  

Statutory Rate  40%  

Tax Expense 80    

Tax Paid   80  

Deferred Tax   None 
 
Tax Expense: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 80   Tax Expense - 80 Tax Expense 80  
       Cash  80 
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15.  Redo the above problem but assume the interest income is permanently non-taxable.  Complete both the income 
statement and the tax return, provide the entry to recognize tax expense, and calculate the effective tax rate. 

  
Income 

Statement Tax Return Difference: 
Permanent 

Revenues 400 400   
Cost of Goods Sold - 150 - 150   
SG&A Expense - 50 - 50   
Depreciation Expense - 20 - 20   
Interest Income 20 0 20 
Pre-Tax Income 200     
Taxable Income   180   
Statutory Rate  40%   
Tax Expense 72     
Tax Paid   72   
Deferred Tax   None 

 
Tax Expense: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 72   Tax Expense - 72 Tax Expense 72  
       Cash  72 
 
Effective Tax Rate: 

36% = 72 / 200 

 
16.  Redo the above problem but assume the interest income is temporarily non-taxable.  Complete both the income 

statement and the tax return, provide the entry to recognize tax expense, and calculate the effective tax rate. 

 Income 
Statement Tax Return Difference: 

Temporary 
Revenues 400 400   

Cost of Goods Sold - 150 - 150   

SG&A Expense - 50 - 50   

Depreciation Expense - 20 - 20   

Interest Income 20 0 20 

Pre-Tax Income 200     

Taxable Income   180   

Statutory Rate  40%  

Tax Expense 80     

Tax Paid   72  

Deferred Tax   8 
 
Tax Expense: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 72 DTL + 8 Tax Expense - 80 Tax Expense 80  
       Cash  72 
       DTL  8 
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Effective Tax Rate: 

40% = 80 / 200 

 
17.  Assume a firm has the following income statement and tax return for the current period, the firm’s first year of 

operations.  Complete both statements and provide the entry to recognize tax expense.  Assume that taxes owed are 
immediately paid. 

 Income 
Statement Tax Return Difference: 

None 
Revenues 400 400  
Cost of Goods Sold - 150 - 150  

SG&A Expense - 50 - 50  
Depreciation Expense - 20 - 20  

Other Expense - 20 - 20  
Pre-Tax Income 160    

Taxable Income   160  
Statutory Rate  40%  

Tax Expense 64    
Tax Paid   64  

Deferred Tax   None 
 
Tax Expense: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 64   Tax Expense - 64 Tax Expense 64  
       Cash  64 
 
18.  Redo the above problem, but assume that the “Other Expense” is permanently non-deductible.  For example, it could 

represent a fine or penalty for some sort of safety violation, and the tax code does not allow any deduction (ever) for 
such an infraction.  Complete both the income statement and the tax return, provide the entry to recognize tax expense, 
and calculate the effective tax rate.   

 Income 
Statement Tax Return Difference: 

Permanent 
Revenues 400 400   

Cost of Goods Sold - 150 - 150   

SG&A Expense - 50 - 50   

Depreciation Expense - 20 - 20   

Other Expense - 20 0 20 

Pre-Tax Income 160     

Taxable Income   180   

Statutory Rate  40%   

Tax Expense 72     

Tax Paid   72   

Deferred Tax   None 
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Tax Expense: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash - 72   Tax Expense - 72 Tax Expense 72  
       Cash  72 
 
Effective Tax Rate: 

45% = 72 / 160 

 
19.  Redo the above problem, but assume that the Other Expense is temporarily non-deductible.  It could, for example, 

represent severance pay for employees that is not deductible until it is actually paid, even though under accounting 
standards it must be accrued as an expense in advance of payment.  Complete both the income statement and the tax 
return, provide the entry to recognize tax expense, and calculate the effective tax rate. 

 Income 
Statement Tax Return Difference: 

Temporary 
Revenues 400 400   
Cost of Goods Sold - 150 - 150   
SG&A Expense - 50 - 50   
Depreciation Expense - 20 - 20   
Other Expense - 20 0 20 
Pre-Tax Income 160     
Taxable Income   180   
Statutory Rate  40%  

Tax Expense 64     
Tax Paid   72  

Deferred Tax   8 
 
Tax Expense: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 72   Tax Expense - 64 Tax Expense 64  
DTA + 8     DTA  8  
       Cash  72 
 
Effective Tax Rate: 

40% = 64 / 160 

 
20.  A firm has $500 of revenues that are also fully taxable and $100 of expenses that are also fully deductible in the current 

year (the first year of operations). The firm also has $40 of restructuring expenses, but these are not deductible in the 
current year, but are expected to be deductible in the next year. The statutory tax rate is 35%.  Complete both the 
income statement and the tax return, and provide the entry to recognize tax expense.  Assume that taxes owed are 
immediately paid. 
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Income 

Statement Tax Return Difference: 
Temporary 

Revenues 500 500  

Various Expenses - 100 - 100   

Restructuring Expense  - 40 0 40 

Pre-tax Income 360     

Taxable Income   400   

Statutory Rate  35%  

Tax Expense 126     

Tax Paid   140   

Deferred Tax     14 
 
Tax Expense: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 140   Tax Expense - 126 Tax Expense 126  
DTA + 14     DTA  14  
       Cash  140 
 
21.  True or False?  Deferred tax liabilities are recognized in the balance sheet at the present value of cash payments owed 

to the government in the future. 
False.  DTLs are not discounted to present value. 

 
22.  A firm has $500 of GAAP revenues that are also fully taxable and $100 of GAAP expenses that are also fully deductible 

in the current year (the first year of operations).  The firm also has $40 of depreciation expense for GAAP, but $80 of 
depreciation deduction for the current year's tax return.  The statutory tax rate is 35%.  Complete both the income 
statement and the tax return, and provide the entry to recognize tax expense.  Assume that taxes owed are immediately 
paid. 

 

Income 
Statement Tax Return Difference: 

Temporary 
Revenues 500 500   
Various Expenses - 100 - 100   
Depreciation Expense - 40 - 80 40 
Pre-tax Income 360     
Taxable Income   320   
Statutory Rate  35%  
Tax Expense 126     
Tax Paid   112   
Deferred Tax     14 

 
Tax Expense: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 112 DTL + 14 Tax Expense - 126 Tax Expense 126  
       DTL  14 
       Cash  112 
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23. Assume a firm has the following schedule comparing the firm’s income statement and tax return.  There are no 
differences.  

 

  
Income 

Statement 
Tax 

Return 
Differences 

None 
Revenues 120 120  
Expenses - 20 - 20  
Other Expense - 20 - 20  
Pre-Tax Income    
Taxable Income    
Statutory Rate  40%  
Tax Expense (See Journal Entry Below)     
Tax Payable (or Cash)    

 
a.  What is the entry the firm would make to recognize tax expense?  Assume that the firm pays the tax immediately 
(i.e., it does not accrue the tax as tax payable, but rather pays cash). 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 32   Tax Expense - 32 Tax Expense 32  
       Cash 32 
 
b.  Upon further review, the firm deems that the $20 deducted on the tax return for Other Expense would more likely 
than not, not withstand an audit. It is also assumed that the $20 would not ever be deductible if the firm were to be 
challenged on an audit.  What additional entry would be required, if any? 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  UTB + 8 Tax Expense - 8 Tax Expense 8  
       UTB 8 
 
Pensions:  Defined Benefit and Defined Contribution Plans 
 
24.  Describe the two main types of pension plans. 
Defined benefit plans specify a benefit to retirees; defined contribution plans specify a contribution to a plan on behalf of 
future retirees. 

 
25.  Give the journal entry to recognize a firm’s payment of $50 to a defined contribution plan. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 50   SG&A Expense - 50 SG&A Expense 50  
       Cash  50 
 
26.  What is the definition of “funded status” for a defined benefit pension plan? 
Funded Status = Plan Assets – Pension Obligation 

  
27. In the current year, a firm begins a defined benefit pension plan that stipulates a pension benefit of 2% of its only 

employee’s final salary, estimated to be $60,000.  The employee is expected to work for two years beyond the current 
year, and then live for three years after retiring.  The appropriate interest rate is 8%.   

 
a.   Calculate the present value of the benefit (2% of $60,000 for an estimated three years) as of the retirement date, and 

also as of the current yearend. 
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Present value of benefit as of the retirement date: 
3,092.52.  The formula in Excel is:  =PV(8%,3,-60000*2%) 

 
Present value of benefit as of current yearend (today): 

2,651.34  The formula in Excel is:  =PV(8%,2,,3092.52) 

 
b.  Set up a table to show the accretion and amortization of the above amount. 

Year Cash 
Payment 

Interest 
8% 

Principal 
Adjustment 

Principal 
Balance 

      2,651 
1 0 212 212 2,863 
2 0 229 229 3,093 
3 1,200 247 953 2,140 
4 1,200 171 1,029 1,111 
5 1,200 89 1,111 0 

 
28.  Below are the three main accounts for a defined benefit pension plan.   
 
a.  Fill in the missing amounts for each account.  Both the equation form of the accounts and the T-accounts are provided.   

Pension Fund   

Beginning  
Balance 

Cash Funding  
by the Firm 

Actual Investment 
Income 

Payments to  
Retirees 

Ending 
Balance 

50 2 5 - 15 42 
 

Pension Obligation   

Beginning  
Balance Service Interest Payments to 

Retirees 
Changes in 

Assumptions Ending Balance 

50 9 5 - 15 0 49 
 

Pension Expense    

Service Interest Expected Investment Income Total Expense 

9 5 - 10 4 
 

Pension Fund  Pension Obligation  Pension Expense 
50     50     
2 15  15 9  9   
5     5  5 10 

              
42     49  4   

 
b.   Provide the entry to recognize pension expense, as well as the entry to recognize the full amount of the funded status 

on the firm’s balance sheet.  (For the pension obligation, simply use “Liability.”) 
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Pension Expense: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash - 2 Liability + 2 Pension Expense - 4 Pension Expense 4  
       Cash  2 
       Liability  2 
 
Adjustment to recognize funded status: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Liability + 5 AOCI  - 5 AOCI  5  
       Liability  5 
 
c.  Describe the cause of underfunded status. 
The pension fund is underfunded by $7.  $2 of underfunding is attributable to the fact that the amount of pension expense 
($4) is greater than the current cash funding ($2).  The remaining $5 is due to the fact that the firm expected the pension 
fund to earn income of $10, but it earned only $5.  This variance between the expected and actual investment income is 
added to the underfunded status, which the firm recognizes in the additional entry above. 

 
29.  Below are the three main accounts for a defined benefit pension plan.   
 
a.  Fill in the missing amounts for each account.  Both the equation form of the accounts and the T-accounts are provided.   
   

Pension Fund   

Beginning  
Balance 

Cash Funding  
by the Firm 

Actual Investment 
Income 

Payments to  
Retirees 

Ending  
Balance 

20 2 5 -15 12 
 

Pension Obligation   

Beginning  
Balance Service Interest Payments to 

Retirees 
Changes in 

Assumptions 
Ending 
Balance 

20 10 2 -15 6 23 
 

Pension Expense    

Service Interest Expected Investment Income Total Expense 

10 2 - 5 7 
 

Pension Fund  Pension Obligation  Pension Expense 
20     20     
2 15  15 10  10   
5     2  2 5 

        6      
12     23  7   

 
b.   Provide the entry to recognize pension expense, as well as the entry to recognize the full amount of the funded status 

on the firm’s balance sheet.  (For the pension obligation, simply use “Liability.”) 
 
 
 



Fundamentals of Financial Accounting and Analysis – Q&A                                                                                   Chapter 9 
 

©Stephen H. Bryan, Ph.D. 96 Q&A  

Pension Expense: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash - 2 Liability + 5 Pension Expense - 7 Pension Expense 7  
       Cash  2 
       Liability  5 
 
Adjustment to recognize funded status: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Liability + 6 AOCI - 6 AOCI  6  
       Liability  6 
 
c.  Describe the cause of underfunded status. 
The pension fund is underfunded by $11.  $5 of underfunding is attributable to the fact that the amount of pension expense 
($7) is greater than the current cash funding ($2).  The remaining $6 is due to the fact that the actuaries changed an 
assumption that increased the pension obligation by $6.  This change in assumption could be due, for instance, to increases 
in longevity or decreases in the discount rate. 

 
30.  Below are the three main accounts for a defined benefit pension plan.   
 
a.  Fill in the missing amounts for each account.  Both the equation form of the accounts and the T-accounts are provided. 
   

Pension Fund   

Beginning  
Balance 

Cash Funding  
by the Firm 

Actual Investment 
Income 

Payments to 
Retirees 

Ending 
Balance 

100 20 - 15 - 25 80 
 

Pension Obligation   

Beginning 
Balance Service Interest Payments to 

Retirees 
Changes in 

Assumptions 
Ending  
Balance 

100 24 6 - 25 14 119 
 

Pension Expense    

Service Interest Expected Investment Income Total Expense 

24 6 - 8 22 
 

Pension Fund  Pension Obligation  Pension Expense 
100    100     

20 15   24  24   
 25  25 6  6 8 

     14      
80    119  22   

 
b.   Provide the entries to recognize pension expense, as well as the full amount of the funded status on the firm’s balance 

sheet.  (For the pension obligation, simply use “Liability.”) 
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Pension Expense: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Cash - 20 Liability + 2 Pension Expense - 22 Pension Expense 22  
       Cash  20 
       Liability  2 
 
Adjustment to recognize funded status: 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Liability + 37 AOCI - 37 AOCI  37  
       Liability  37 
 
c.  Describe the cause of underfunded status. 
The pension fund is underfunded by $39.  $2 of underfunding is attributable to the fact that the amount of pension expense 
($22) is greater than the current cash funding ($20).  Adding to the underfunded amount, the firm expected the pension 
fund to earn income of $8, but it actually lost $15, representing a $23 variance between expected and actual investment 
income.  Finally, the change in assumptions added $14 more to the underfunded status.  To summarize, the amounts of 
$2, $23, and $14 sum to $39.  

 
Foreign Currency Translation 

 
31.  What is the U.S. dollar equivalent for a foreign currency amount of FC80, when the exchange rate is $1.1/FC? 
U.S. $ = FC 80 * $1.1 / FC = $88 

 
32.  Describe why an imbalance usually occurs on the balance sheet during the translation process. 
Most accounting standards require firms to translate different parts of the balance sheet with different exchange rates, 
which is tantamount to multiplying through an equation with different factors.  The equation will not balance. 

 
33.  Describe why an articulation problem occurs on the cash flow statement during the translation process. 
The sum of operating, investing, and financing cash flows must equal the change in cash from the previous balance sheet 
to the current balance sheet.  However, cash balances are translated at year-end spot rates, whereas as the cash flows 
are translated at different rates.  Operating cash flows are usually translated at average rates, but investing and financing 
cash flows are translated at rates in effect when the underlying investing and financing events took place.  

 
34.  Give the breakdown of factors affecting the translation of a foreign subsidiary’s revenues.   
Revenue = price * volume (or quantity) * exchange rate 

 
35.  A foreign subsidiary has the following transactions during its first year of operations (Year 1). 

 
At the beginning of the year, the subsidiary borrows FC15 (where FC stands for foreign currency, which is the local currency 
of the subsidiary).  The journal entry is provided below: 

Assets Liabilities Owners' Equity Debit Credit FC FC 
Cash +FC15 Note Payable +FC15   Cash  15  
       Note Payable 15 
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Over the course of Year 1, the subsidiary has FC50 in cash sales and FC40 in cash expenses.  The sales and expenses are 
journalized below: 

Assets Liabilities Owners' Equity Debit Credit FC FC 
Cash + FC50   Revenues + FC50 Cash  50  
       Revenues  50 
Cash - FC40   Expenses - FC40 Expenses  40  
       Cash  40 
 
The parent firm that owns the above subsidiary reports in U.S. dollars.  The applicable exchange rates are below: 

Accounts Applicable FC Rates 
($ / FC) 

Sales 1.5 
Expenses 1.5 
Operating Cash Flow 1.5 
Financing Cash Flow 1.0 
Assets  2.0 
Liabilities  2.0 

 
Create the three financial statements in both FC and U.S. dollars below: 
 

Financial Statements (Year 1)  FC Rate $ 

Income Statement       

Sales 50 1.5 $75  

Expenses - 40 1.5 - 60 

Net Income 10 1.5 15 

        

Balance Sheet       

Assets (Cash) 25 2.0 $50  

Liabilities (Note Payable) 15 2.0 30 

Retained Earnings 10   15 

FC Adjustment (AOCI)     $5  
 
 

Retained Earnings FC Rate $ 
Beginning Balance 0   
Net Income 10 1.5 15 
Ending Balance 10   

 
Cash Flow Statement FC Rate $ 

Operating Cash Flow 10 1.5 $15  

Investing Cash Flow 0   0 

Financing Cash Flow 15 1.0 15 

FC Adjustment      $20 

Total Increase in Cash 25   $50 

Beginning Cash Balance 0   0 

Ending Cash Balance  25   $50 

36.  Repeat the above translation.  However, assume the following applicable exchange rates. 

Accounts Applicable 
FC Rates ($ / FC) 

Sales 1.5 
Expenses 1.5 
Operating Cash Flow 1.5 
Financing Cash Flow 2.0 
Assets 1.0 
Liabilities 1.0 
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Financial Statements (Year 1) FC Rate $ 

Income Statement       

Sales 50 1.5 $75  

Expenses - 40 1.5 - 60 

Net Income 10 1.5 15 

        

Balance Sheet       

Assets (Cash) 25 1.0 $25  

Liabilities (Notes Payable) 15 1.0 15 

Retained Earnings 10   15 

FC Adjustment (AOCI)     - $5 
 

Retained Earnings FC Rate $ 
Beginning Balance 0   
Net Income 10 1.5 15 
Ending Balance 10   

 
Cash Flow Statement FC Rate $ 

Operating Cash Flow 10 1.5 $15  

Investing Cash Flow 0   0 

Financing Cash Flow 15 2.0 30 

FC Adjustment      - $20 

Total Increase in Cash 25   25 

Beginning Cash Balance 0   0 

Ending Cash Balance  25   25 
 
37. Refer to the above two problems.  Describe the relationship between exchange rates and the FC adjustments on the 

balance sheet. 
When the dollar depreciated in value, the adjustment to the balance sheet was an increase to AOCI.   This will be true 
when the firm is in a net asset position (assets greater than liabilities), which is the norm.  This is due to the fact that 
owners’ equity is multiplied by older or average exchange rates, which are lower than current rates (when the dollar 
depreciates), necessitating an increase to equity to balance the equation.  The opposite is true when the dollar appreciates 
in value. 
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U.S. GAAP v. IFRS 
 
38.  Label each accounting treatment as being a part of U.S. GAAP (GAAP) or IFRS. 
 

Accounting Issue GAAP or 
IFRS? 

Write downs/impairments generally are not reversed. GAAP 

Reserves for contingencies are recognized if “more likely than not.”   IFRS 

Cash interest received and paid and cash dividends received, all operating cash flow GAAP 

Capitalization of R&D begins once a high threshold has been reached in the development phase. GAAP 

Property, Plant, and Equipment may be revalued to fair value (that is, marked to market). IFRS 

Pension related gains and losses in AOCI are recycled (amortized) over future periods GAAP 

Dual method for recognizing NCI (non-controlling interest) at acquisition IFRS 

Operating cash flows are usually calculated using the indirect method, commencing with Net Income.  
Cash interest (i.e., interest paid) is disclosed in a note. 

GAAP 

Accelerated and straight-line amortization methods for share-based compensation GAAP 

LIFO is not allowed. IFRS 

Single model for lease accounting IFRS 

Prescriptive accounting treatment is the norm.  There is tremendous literature on accounting guidance 
and implementation procedures across a wide array of industries. 

GAAP 

All firms using the standards must adhere to the full set of standards.  There are no “carve outs.” GAAP 

Gains and losses on minority passive equity investments may be deferred in AOCI IFRS 

 
Troubled Debt Restructuring 
 
39. True/False Troubled debt restructuring is one where a creditor grants a concession to the debtor to make the terms 

more favorable to the debtor. 
True 

 
40. What are the basic differences between a debt settlement a debt modification? 

A settlement extinguishes the debt, typically through a transfer of a noncash asset to the lender from the borrower.  A 
modification is a change in the terms of the debt to the advantage of the borrower.  

 
41. Assume a borrower borrows $10,000, with an interest rate of 5%, with interest payable annually and all of the principal 

due at the end of the third year. At the end of Year 1, the firm cannot make the interest payment. 
 
The borrower (after obtaining a modification of the terms of the loan from the creditor) will immediately transfer a noncash 
asset to settle the debt, including accrued interest.  The book value of the noncash asset to be transferred is $5,000, and 
the market value of the asset is $7,000.  
 
Provide the below journal entries. 
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a. Re-value the noncash asset to be transferred to the creditor: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Asset + 2,000   Gain + 2,000 Asset  2,000  
       Gain  2,000 
 

b. Settle the debt, including accrued interest, by transferring the noncash asset to the creditor: 
Assets Liabilities Owners' Equity Debit Credit $ $ 

Asset - 7,000 Note Payable - 10,500 Gain + 3,500 Note Payable 10,500*  
       Asset  7,000 
       Gain  3,500 
* Includes accrued interest of $500 ($10,000 * 5% = 500) 
 
42. Assume the same information as in the previous problem, except that the debt is modified, rather than settled.  
 
Assume that the lender agrees to modified, undiscounted future cash flows of $7,800, which consist of a $7,000 lump sum 
payment, due in two years, and two $400 cash payments, due at the end of each of the next two years. 
  
a.  Provide the entry, if any, the borrower would make on the date the debt is modified? 

Assets Liabilities Owners' Equity Debit Credit $ $ 
  Note Payable - 2,700 Gain  + 2,700 Note Payable 2,700*  
       Gain  2,700 
* Since the carrying value of the debt ($10,500) is greater than the modified undiscounted cash flows ($7,800), the debt is 
written down:  10,500 - 7,800 = 2,700 

 
b.  Provide the entry the borrower would make for the next payment of $400? 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 400 Note Payable - 400*   Note Payable 400*  
       Cash  400 
* Since the carrying value of the debt ($10,500) is greater than the modified undiscounted cash flows ($7,800), no interest is 
recognized.    
 
c.  Assume the same information as above, except that the terms of the modification call for undiscounted future cash flows 
of $10,600, which consist of a $9,800 lump sum payment, due in two years, and two $400 cash payments, due at the end of 
each of the next two years. 
 
What is the new implied interest rate under the modified terms (to 4 decimal places)? 

Since the carrying value of the debt ($10,500) is less than the modified undiscounted cash flows ($10,600), a new implied 
interest rate is recognized.  
 
 In Excel:  = RATE(nper, pmt, pv, fv) =RATE(2,-400,10500,-9800) = 0.4842%. 

 
d. Refer to c. above.  Provide the modified amortization table. 

 Cash  
Payment Interest Principal 

Adjustment 
Principal 
Balance 

  0.4842%  10,500 
1 400 51 349 10,151 
2 400 49 351 9,800 

 
e.  Provide the entry the borrower would make for the first of the two $400 cash payments. 

Assets Liabilities Owners' Equity Debit Credit $ $ 
Cash - 400 Note Payable - 349 Interest Expense - 51 Interest Expense 51  
      Note Payable 349  
       Cash  400 
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